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#$��$�%�� � ��&�'(�

����� ���'$��!" �����&�'$2�

���#��'$���� ���$!"

��� !"#"

��*2" $� �( $�� $-� �����&�'$2� ��%(4��� �� ��!'��4��� $�" #���+'#�" $-� ��−

 $3-� #�#5#�&�'$2�, �� �0*���� ������+&!'�" $��" �����3� �� %�!'������!*�3� '#

����#�#5#�&�'$0". 	 �0*���" ATM, ��� #(��� �!��/���" '$� �( $��, +$�� '�����−

'$#( �# 0�#&%� ���" #�'�$!�(-� ����#( �� %�!'������!*#( '# �( $�� #�#5#�&�'$2�

��� %�!'�������3� ���#" �#*+���", +�-" ! �0*���" wormhole ��� ������#($�� ��+

����� '�'$���$�. � $�+��" +�-" ��� (�!'!" $-� ��!��/���2� �#'� '# 0�� �( $��

ATM �# 0�#&%� ���" #�'�$!�(-� #(��� ���/��#$� +" ��+ $�� $�+�� ��� (�!'!" '# 0��

�( $�� wormhole,  �� '# ��$+ �/#(���$��  �� �� ���/��0" '$�" #���+'#�" $-� �� $3-�

��$2�. �$!� #�&�'(� ��$� '�& �(����# $�" #���+'#�" �� $3-� ��� ���$#��3�$��

��+ �#$�&-&#(" ��� %�!'�������3� $!� �0*��� ATM �# 0�#&%� ���" ������!�0��

�# #�'�$����, �# �( $�� ��� ���$#��3�$�� ��+ �#$�&-&#(" ��� %�!'�������3� $!�

�0*��� wormhole. �������*! # 0��" ���'����-$�" &�� $!� �#�$���&(� �#$�&-&0-�

 �� $-� �3� ������/#�*0�$-� �#*+�-�, ��� ! �#�$��0�#�� $�� #(��� '# #�(�#��

 3 ��� ����&��3. �� ���$0�� ��� ���'����2*! �� #(��� +'� $� ����$+ ��� �#���−

'$� �. 
#�#$��# $!�  �*�'$0�!'! ��� �/('$��$�� �� 0$�  �*2"  ��  3$$��� (cells)

�� 0$-� ��+ $� �������- �( $��  �*2" #�('!"  �� $!� ����%� (throughput) ��$2�

$-� �� $3-�. �� '��*� #"  (�!'!"  �$- ��+ $�" ���(#" #5#$�4��$�� $� �( $��, #(���

# �! $� �  (�!'! (bursty traffic)  ��  (�!'! �# *#��� '!�#(� (hot spots). 
#�#$��#

� +�� $� �-" #����#�4��$�� �� #���+'#�" $-� �� $3-�  �*2" ��$� � �� �#$�&-&#("

��� $� ���$#��3�, &(���$�� �#&��3$#���. <�-" �#(%���� $� ���$#�0'��$� $� �( $��

'$!� �#�(�$-'! $�� ATM '���#��/0�#$��  ��3$#�� ��+ # #(�� '$!� �#�(�$-'! $��

wormhole, �����'��4��$�" �� �+$#�#"  �*�'$#��'#�" '$!�  (�!'� $��  �*2"  ��

 ��3$#�! ����%� '# �����&#" ������/2'#�" $-� �#�����$-�. ���� � '$!� �#�(−

�$-'! $�� ATM, $� �( $�� ��� ���0%��� �-�(�#"  � ��/��(�" $-� �#���0�-� 0%���

'!���$� � )#�$(-'! '$!�  �*�'$0�!'! ��� ���)������ $!�  (�!'! ��� ��0�%#$��

��+ ��$�.

��+�$!" : .!��$���" �#�����", ��( ����" ��*!&!$�"
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Comparative Study of Credit Flow Controled ATM and

Wormhole Networks Under Bursty Traffic and With Hot Spots

Emmanouil Spyridakis

Master of Science Thesis

Department of Computer Science

University of Crete

ABSTRACT

As the performance of computer networks becomes similar to the performance of

multiprocessors, the efficiency of the routing methods used, is also converging. Methods

used for networks can also be applied for a high performance network having similar

performance to amultiprocessor. The ATMmethod, which is frequently used in computer

networks, combined with credit based flow control can be used in multiprocessors where

popular routing method is wormhole. Data flow is different for the two methods and

that is the main reason that the two methods have different performance. In our work

we measure and compare the performance of ATM with credit based flow control and

wormhole. The two kind of switches were modeled and a simulator was created based

on those models. The models are detailed, realistic and they describe the operations of a

switch in one clock cycle. We study the cell delay and throughput for networks consisting

of either ATM or wormhole switches under uniformly distributed (poisson), bursty traffic

and with hot spots at the exits of the network. We also study the performance as the

network or the switches become larger. The results show that a network consisting of

ATM switches have better performance than the one consisting of wormhole switches,

having smaller delays and better throughput in analogous configurations. For ATM

networks an improvement of performace is achieved when more than one lane is available

in the network.

Supervisor : Dimitris Serpanos, Assistant Professor
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�#-�2%�0�" ��� �� #�%���'$�'-���'�0���" ��*�2���" ��� �# )��*!'�� '!���$� �

'$!� ��� ���-'! ��$�" $!" #�&�'(�" #($# '# $#%�� � #($# '# #��'$!���� � '!�#(�.

��$’ ��%�� �/#(�- 0�� #�%���'$2 '$��  . 
��+�! ��$#)�(�!  �� '$��  .

.!��$�! �#����� &�� $!� )��*#�� $��" $+'� '$!� #����&� $�� *0��$�" $!" #�&�'(�"

+'�  �� &�� $!� )��*#�� $��" '# �3' ��� *#-�!$� � '!�#(� $!" #�&�'(�". ����($#��,

�#&��! )��*#�� #(%� ��+ $��  . �#�����, ��� �# #�0)�#=#  �$� $� �#&��3$#�� �0��"

$!" #�&�'(�",  �� ��� �/�0�-'# ����0" 2�#" '$� &��/#(� $��, ����  �� # $+" ��$�3,

&�� �� '�4!$�'���# *#-�!$� � ����  �� $#%�� � *0��$� '%#$� � �# $!� #�&�'(�.

�� �0��" $!" #5#$�'$� �" #��$����"  . �#2�&��" �$���3�!" ��� 0�-'# ���3

# $#��  �� ��'��'$� � '%+��� '%#$� � �# $!� #�&�'(� ���. �� ����#(5#�" $��

'��0)���� '$!� )#�$(-'! $!" '�&&��/�"  �*2"  �� $!" �����'(�'!" $!" #�&�'(�".

�
��+�!"
���4� !" �# )��*!'# ����0" /��0" '# $#%�� � 4!$���$� ���  ��(-"

#(%�� '%0'! �# *0��$� ���'���(-'!" ���� �# '$���5#  �� !*� � +$�� $� ���&��$�

�#� ��&�����  �$’ #�%��.

�� �$�� �����!=! �� �!� #�%���'$�'- $��" &��#(" ���, �( �  �� ��0�! &�� $!�

!*� � ����  �� ��� � ���'$���5! ��� ��� ���#(%�� +�� $� %�+��� $-� '����2� ���.

��%���'$2 $0��", $� ��'$�$�3$� ��!��/��� �" $�� ���3��$�" �#%����&(�"  ��

>�#���" &�� $!� $#%�� �  �� �� ����� � ���'$���5! ��� ��� ���#(%#  �$� $!

���� #�� $-� �#$��$�%�� 2� ��� '����2�  �� $� ����� ���'$��!" �����&�'$2� $��

���#��'$!�(�� ���$!" &�� $o �=!�+ #�(�#�� '����2� ��� ��3 ���'0/#�#.
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'�,����( 1

�������	

�� $#�#�$�(� %�+���, ! ����$�5! $-� �� $3-� $-� �����&�'$2� #(��� �#&��! �+&- $!"

���+��� '$�" #���+'#�" $-� &����2� ���'3��#'!". �� #���+'#�" ��(-" '$�� $��0� $-�

$��� 2� �� $3-� ��%(4��� �� ��!'��4��� $�" #���+'#�" �� $3-� ���'3��#'!" �0'�

'# ������!���" �����&�'$0". �� �( $�� �����&�'$2� ��%� � %�!'�������*! ��

&�� �� '���0��$�� �#$�53 $��" '$�*��( #�&�'(�"  �� $#���$� �  �� �� �����4��$��

���$#�#'��$� � �#���0��  �� '�' #�0" (# $��-$0", '%#���'$0",  .�.). �� '3&%���#"

#/����&0" ��� %�!'�������3� ��!�#'(#" ��� ���'/0���� $� �( $��, �����3� ��

����&��� ���3 �#&��� �0&#*�" ��!��/��(-� ��� �#$� ���3�$�� �#$�53 '�'$!��−

$-� ���- '# 0�� �( $��. �� ����%��'#" �3'#�" �#� #(��� ��0�� � ������!$� 0" '#

���'�0�#" �#���$2'#�" [NBKP 95], [Kung 92]. ���=�/�#" $#%����&(#" &�� �� %�!−

'������!*�3� '# ��$�3 $�� #(���" $� �( $�� #(��� ! $#%����&(� ATM (Asynchronous

Transfer Mode)  �� wormhole. �� wormhole #(��� � $�+��" #�� ���-�(�" ��� %�!'�−

�����#($��  ��(-" ��+ �( $�� ���'3��#'!" ������!�-� �����&�'$2�, #�2 $� ATM

'%#���'$! # &�� �� %�!'������#($�� ��+ �( $�� �����&�'$2� ����($#�� &�� '���0−

'#�" '# �#&��#" ���'$�'#�" ����  �� &�� ����%� ��!�#'�2� &�� �#$�/��� �%��

($!�0/-��)  �� #� +��".


# $�� $�+�� ��� #(��� '%#���'�0�! ! $#%����&(� ATM �#(%�#� �� �!� #(���

 �$���!�! &�� �� %�!'������!*#( '# �( $�� ��� �#$�/0���� �#���0�� '# �� �0"

���'$�'#�". ��$+ +�-" �#� #(��� ��!*0". <$�� ���'*0'���# 0�#&%� ���" �#

#�'�$���� 0%���# �(� $#%����&(� ��� #(���  �$���!�!  �� &�� $��� � �( $��. 
# $!�

#�&�'(� ��$� '�& �(����# $�" �3� ��%�$# $��� 0" �� $3-�  �� �0'- ���'���(-'!"

�����&(4���# $!� ����%� (throughput)  �� $!�  �*�'$0��'! ��� �/('$�$�� !  (�!'!

��� ��0�%#$�� �0'- ��$2�. �� ���$#�0'��$� ����#� �3��� '�/� ��#��%� $�� ATM

�# 0�#&%� ���" �# #�'�$���� 0���$� $�� wormhole  �� ! ��#��%� ��$� &(�#$�� ���

#�/���" +$�� �� '��*� #"  � ��/��(�" &(���$�� ��� �3' ��#", +$�� �!���� !  (�!'!

#(��� # �! $� � (bursty) � +$�� ����%��� *#��� '!�#(� (hot spots). 	 ����%� ���

#��$�&%��#$�� ��+ $� �� $�� ATM #(��� ���3  ��$� '$!� )0�$�'$! (100%)  �� ��

1



 �*�'$#��'#�" #(��� �� �+$#�#". ��$0" �� #���+'#�" #��$�&%����$�� �# ��&+$#�!

����! ��+ +'! %�#��4#$�� $� wormhole $� ���(� ���� +$�� #(��� �� #$� ���3'�� '#

�+���" ����#( �� /$�'#� '$�" #���+'#�" $�� ATM.

1.1  ��(���	 �����(�	

	 #50��5! $-� �� $3-�, 5# ��� ��+ $�� 19� ��2�� �# $�" ��� ��3=#�" $�� $!�#&��/��

(1830)  �� $�� $!�#/2��� (1876). ��%� � ! %��'! $-� �� $3-� �$�� &�� �� ���'���#−

*�3� �#$�53 $��" '�' #�0" ��� 0'$#����  �� �������)���� �%�. �� $!�#&��/� �  ��

$!�#/-�� � �( $��, ����$3%*! �� ���3 '$� $0�! $�� 19��  ��  �$� $�� 20� ��2��.


0%�� $� 1960, �( $�� %�!'�������3�$�� &�� �� ���'���0'���  ��(-" $!�#/-�� 0"

'�' #�0". �# ��$� $� �( $��, &�� �� '���#*�3� �3� $!�0/-�� �#$�53 $��", ��0�#� ��

����%#� 0�� /�'� +  ����� ��� �� $� '���0#�. �# ��$+ $�  �����, #/+'�� &(�#� ����$+

�� ���$#*#(, �/�#�2�#$�� '# ��$�� $!� '3��#'!0�� �0��" $�� ������ �	
�� (bandwidth)

 �� � +��  �� �� &��  ����� %���� � ���'$���$� ! '3��#'! �#� %�!'������#($��, $�

#3��" 42�!" �#� ����#( �� %�!'������!*#( ��+ ���#" '���0'#�". 	 ���/� ��$2� $-�

�� $3-� '# $��� + #�(�#��, #(��� '�� �'$0��, ����%#� �!���� 0��" �#$�&-&0�" �# $��

���(� '���0��$�� +�� $� $!�0/-�� $�� $��� �3  0�$���. �� �#$�&-&#("  �*#  0�$���,

'���0��$��  �$+��� �#$�53 $��". � �+&�" ��� ��$� ! $�����&(� 0%#� #���#&#(, #(���

+$� %�#��4#$�� �� �����3� �� '���#*�3� +�� $� $!�0/-�� �#$�53 $��", ���� ��$+

�#� %�#��4#$�� �� &(�#� $��$+%���� &�� +�#" $�" '�' #�0" ���- '$� �( $��, &��$( ��

%�!'�������3'��# 0��  ��2��� &�� �� '���0'���# 0�� $!�0/-�� �# +�� $� ����, *�

#(%��# �(� ���3 �#&��! '��$��! �+�-�. � $�+��" '3��#'!" �#$�5� �(�" �!&�"  ��

#�+" ������'��3 �# ��� �#�'$� � ���*#'! $�� /�'� �3 �0'�� '$!� '3��#'! �0&#$��

��
����� ����	��
�� (circuit switching) [Walr 91]. 
0'� '# 0�� �( $�� ! ��!��/��(�

�#$��(�#$�� #($# '# �����&� � #($# '# =!/�� � ���/�. 
#$�$���� '# �����&� +

'��� '!��(�#� +$� ! ��!��/��(� �#$�$�0�#$�� '# !�# $�� +  3��  �� �#$��(�#$��

�0'� ��+ $�" &����0" ���'3��#'!". 	 �#$�$���� '# =!/�� + '��� '!��(�#� +$� !

��!��/��(� �#$�$�0�#$�� '# ���/� � ����*(�" ��+ bit. � �#3$#��" ��$+" $�+��"

�#$���'!" $!" ��!��/��(�" #(��� �#��''+$#�� ��# $� +" '$�� *+��)�  �� &#�� �

#��$�&%��#� �#$�/���  ��3$#�!" ���+$!$�".

��+ $� 1970 ��%(4#� �� ����$3''#$�� � $��0�" $-� �� $3-� �����&�'$2�. 	

����$�5!  ���*! # ���" �3�  �$#�*3�'#�". �$�� $��0� $-� $��� 2� �� $3-� (LANs)

 �� $�� $��0� $-� �� $3-� #��#(�" �#���%�" (WANs). ����%#�  �� �(� $�($!  �$!&��(�

�� $3-� ��� #(��� '%#���'�0�� &�� ��  ��3�$��� $�" ���& #" �(�" �#���%�" �#&0*��"

�#�� 2� %�����0$�-� (MANs).

�$� �( $�� #��#(�" �#���%�", �� �����&�'$0" )�(' ��$�� &#-&��/� � �� ��� �#−

$�53 $��"  ��  �$�  ��+�� $� /�'� + �0'� ��� %�!'������#($�� &�� �� #�� ���-��3�



�#$�53 $��" #(��� $!�#/-�� 0" &����0". ����$3%*! �� #��� � ��-$+ ���� #�� ���-−

�(�" �#$�53 �����&�'$2� ��� �$�� '���#�#�0��� �# ��$+� $�� $�+��. �� ��-$+ ����

���'3��#'!" �#���0�-� (data link protocols) �#��&��/��� $!� ����� �'(� ��� ��0�#�

�� � ����*!*#( &�� �� &(�#� ����$� ! #�� ���-�(� [Walr 91]. 	 ��!��/��(� ��� #(���

���" �#$���'!, %-�(4#$�� '#  ����$�� ��� �����4��$�� ����
� (packets). ��� ��

&(�#� ��� �����$� +" � $�+��" �#$���'!", 0�� ������ %-�(4#$�� '# �� 0$� �� ��3

�#&0*��"  ��  �*# �� 0$� �#$��(�#$�� 5#%-��'$�. 	 $�����&(� ��$2� $-� �� $3-�

#(��� �# ���/� ��0&��$�" (mesh)  �� �� '���0'#�" #(��� ��+ �����&�'$� '# �����&�−

'$� ��#'� (point to point). ��#��� �#� #(��� ����$+ �� ����%#� �(� '3��#'! �#$�53

 �*# �����&�'$� ��� ��� #� '$� �( $�� �#  �*# ����� �0'� '# ��$+, ����%���

 �� �����&�'$0" ��� �#�$���&�3� -" �#$�&-&#("  �� #/+'�� �#� #(��� �� ����0 $#"

#�+" �� 0$�� ��� /$��#� '# ��$�3", 0%��� ��!��/��(� �� $� ���-*�'��� ���" $��

�������$! $��. >$'� ��� 3�$#� ! $#%����&(� ��
������ ����
�� (packet switching),

��� %��� $!��'$� + $!" #(��� +$� $� /�'� + �0'� �#� %�!'������#($�� ��� �#�'$� �

��+ �(� '3��#'! ���� ����0" '���0'#�" ������0 ��$�� ���- '$� /�'� + �0'�.

�� $��� � �( $�� ����$3%*! �� ������!�� �# $� �( $�� #��#(�" �#���%�"  �� !

���/��� $��" ��+ ��$� #(��� +$� �� '�' #�0" ��� '���0��$�� �0'- $��� 2� �� $3-�

)�( ��$�� &#-&��/� �  ��$�. �3��� %��� $!��'$� + ��$2� $-� �� $3-� #(��� +$�

! #�� ���-�(� #��$�&%��#$�� �0'- #�+"  ���+%�!'$�� �0'��  �� $!� ��!��/��(�

��� �(� '�' #�� )�4#� �0'� '$� �( $��, $#�� � +��� �����3� �� $!� ����, ���

 �� � �������$!". ��  ���+%�!'$� �0'� ��� %�!'�������*! # ��%� � �$�� �

�0��",  ����$�" �#$���'! $-� �#���0�-� �0'- �����/-�� �3  ������3 (ALOHA)

[Walr 91]. ��&+$#�� +�-", &�� �� &(�#� ��� �5�+��'$! ! �#$���'! %�!'�������*! #

����5-�� +  ��2���. �/�3 $� �0'� #(���  ���+%�!'$�,  �*# '�' #��, '���0#$��

�#  �*# ���! �0'� '$� �( $��. Y�� #�2 �#� ����%#� *0�� &�� 3���5! �#$�&-&#2�

�0'� '$� �( $��. ��  3��� ��+)�!�� '# ���'�0�� ��+ ��$� $� �( $�� #(��� ��

'�& ��3'#�" ��� ����#( �� '��)�3� +$��  ����#" '�' #�0" 5# ���'��� �� # �0�����

$� �#���0�� $��" $��$+%����  �� �/�3 $� �0'� #(��� ��������4+�#��, $� �#���0��

+�-� &(���$�� �! ���&�2'��� (Ethernet) [Walr 91]. 	 �#$���'! $+$# ��0�#� ��

#�����!/*#( ��+ +���" +'��" '�& ��3'$! ��. �� #$� ��-$+ ���� &�� �� �3���� $�"

'�& ��3'#�" 0%��� ������!*#( &�� �� �3'��� $� ��+)�!�� �#$� ��+ �(� '3& ���'!.

��� �� ��$��#$-��'$#( ��$+ $� ��+)�!��  �� �� �!� ����%��� '�& ��3'#�", ���'�0��

��-$+ ���� ���%�#2����  �*# '�' #�� ��� *0�#� �� '$#(�#� �#���0�� �0'- $��

�� $3�� �� 0%#� 0��  ���+�� (token). 
+��" $� ��� $�'#� �#$��(�#� $� �#���0�� ���

*0�#�  �� �#$� �#���#� $�  ���+�� ��$+ '#  ������ ���� ��� ��*��+� �#���0�#� &��

�� �#$��+'#� �#���0��. �����&� �# $!� ����$+$!$� $�� �� $3�� ����#( �� ����%���

0�� �  �� �#��''+$#��  ���+���.

����*-" �� �������- $3��� �� $3�� %�!'�������3�$�� '# '�����'�+, 0%��$�"

���'�0���" �����&�'$0" '���#�#�0���" �# 0�� �( $�� #��#(�" �#���%�"  �� �  �*#



Local Area Network Local Area Network

Local Area Network

Local Area Network

Wide Area Network

Local Area Network

�%��� 1.1: �#���%� � ���� �� $3��

0��" ��+ ��$�3", #(��� '���#�#�0��" �# 0�� $��� + �( $�� ('%��� 1.1). <$�� 0��"

�����&�'$�" ��+ 0�� $��� + �( $�� *0�#� �� #�� ���-��'#� �# 0��� ���� �����−

&�'$� #�+" ����� $��� �3 �� $3��, %�!'������#( ��!�#'(#" $�" ���(#" ���'/0�#�

� �����&�'$�" ��� )�(' #$�� ��#'� '���#�#�0��" �# $� �( $�� #��#(�" �#���%�".

�����#�&�� $0$���� �� $3�� #(���  �� $� Internet.

	 #��*��(� &�� �#&��3$#�! �����&�'$� � �'%3, ���&!'# '$!� ����$�5! ����#−

�#5#�&�'$2� � ������!�-� �!%��2� ��� '���0��� #�#5#�&�'$0" '# ���3 �� ��

��+'$�'!. �� �!%��0" ��$0" ���$#��3�$�� ��+ �����#" #�#5#�&�'(�" ��� #�� ���-−

��3� �#$�53 $��" �0'- #�+" �� $��� ���'3��#'!" �=!�2� #���+'#-�. ��*# ������

#�#5#�&�'(�" ����#( �� ���$#�#($�� ��+ #�#5#�&�'$� �# $!�  ��/� $�� ����!, $�−

�� �  3��� ����!  �*2"  �� �����#" ��� ������)����� �� ���%#���'$�3� $� �#���0��

��� ��� ���3�$�� '$� �( $�� ���'3��#'!" [LLGW 92] [KOHR 94] [ABCJ 92]. �����&�

�# $� ���$0�� $!" ������!�!" �!%���" ����#( ���- '$� �( $�� �� )�(' ��$��  ��

�����#"  #�$�� �" ����!" ��� �����3� �� ���� +��� �� #�#5#�&�'$0". �� $�����&(#"

��� '���*-" %�!'�������3�$�� &� ��$� $� �( $�� #(��� ('%��� 1.2): ! &����� �

(linear), � �� $3���" (ring), $� �0���� (tree), $� ��0&�� (mesh), � ��#� 3)�" (hypecube)

 �� $� �( $�� �������2� #���0�-� (multistage networks) +�-" ! �#$���3�� (butterfly)

� $� �0�$� (delta) �( $�� [BeTs 89]. ����%��� �3� )�'� 0"  �$!&��(#" ������!�-�

�!%��2�: �� �!%��0"  ���+%�!'$!" ����!"  �� �� �!%��0" �# �0��'�� �!����$-�.



Butterfly

Linear

Ring
Tree

MeshHypercube

�%��� 1.2: �����#(&��$� $�����&�2� �� $3-� ������!�-� �����&�'$2�

�$�" �!%��0"  ���+%�!'$!" ����!", +��� ! ����! $�� '�'$���$�" #(���  ���� '#

+���" $��" #�#5#�&�'$0", ����%#� 0�� �#�(� ��#�*3�'#-� &�� +�#" $�" �����#" #�#−

5#�&�'(�". .�#�&�'(#" $�� ��(�� ���&�����$�" ��� $�0%��� '# ���/��#$� 0" �����#"

#�#5#�&�'(�" #�� ���-��3� �#$�53 $��" �0'-  ���+%�!'$-� ���2� '$!� ����!. �$�"

�!%��0" �# �0��'�� �!����$-� �#� ����%#�  3��� ����! ��� �� $!� )�0���� +���

�� #�#5#�&�'$0"  �� $� �#�(� ��#�*3�'#-� #(��� 5#%-��'$+ &��  �*# ������ #�#5#�−

&�'(�". .�#�&�'(#" $�� ��(�� ���&�����$�" ��� $�0%��� '# ���/��#$� 0" �����#"

#�#5#�&�'(�", #�� ���-��3� �#$�53 $��" �#��2�$�" �!�3��$�. �#  �*#  +�)� $��

�� $3�� ���'3��#'!" ����%#�  �� �(� ������ ��� ���� ����*#( $!�  (�!'! '$� �( $��

���'3��#'!"  �� #/+'��  ����� ��!��/��(� ��� ��� ��#($�� '# ��$+, �/��� $�� $�−

�� +  +�)�, $!� #5�&#� ��+ $� �( $��  �� $!� �����(�#� '$�� $��� + #�#5#�&�'$!. ��

�#� ��#�*3�#$�� '$�� $��� +  +�)� ! ��!��/��(� ��� 0/$�'#, ��0�#� �� ���-*!*#(

'$!� '-'$�  �$#3*��'! &�� �� /$�'#� '$�� ������'�+ $!".

1.2 Asynchronous Transfer Mode (ATM)

	 �0*���" ATM #(��� ��$� ��� 0%#� ���*#$!*#( &�� ����� �( $�� $��� �  �� #��#(�"

�#���%�" &�� �#$�/��� �#���0�-� '# �=!�0" $�%3$!$#". 	 �0*���" ATM ��(4#� $��

$�+�� �# $�� ���(� �#$� ���3�$�� �� ��!��/��(#" �0'� '$� �( $��. >'$- +$� �(� �!&�



*0�#� �� '$#(�#� 0�� ������ '#  ����� ������'�+. �� ������ %-�(4#$�� '# �� �+$#��

 ����$�� ��� �0&��$�� ����
� (packets)  �� #������#($�� � ���%#���'$�" $�� �� $3��

��  �$�' #��'#� �(� '3��#'!. � ���%#���'$�"  �$�' #��4#� $+$# �(� ����
��� ��
����

(Virtual Connection) )�(' ��$�" 0�� ������$� �0'� '$� �( $�� ��� '���0#� $!� �!&�

�# $�� ������'�+  �� #�!�#�2�#� $��" �#$�&-&#(" ���- '# ��$+ $� ������$� &�� $!�

�!�����&(� $!" �0�" '3��#'!". �$!� '��0%#��  �*# �� 0$� %-�(4#$�� '# �� �+$#��

 ����$�� '$�*#��3 �#&0*��" ��� �����4��$�� cells. ��*# cell ���$#�#($�� ��+ $!�

#�� #/��(��  �� $� '2�� $�� ��� �#��0%#� �0��" $�� �� 0$�� [RoCG 94]. �� cells

���/��#$� 2� �� 0$-� ����#( �� ������0 ��$�� '$��" '���0'���". �� cells  �*#

�� 0$�� �#$��(���$�� �# $!� '#���  �� �����(���$�� '$�� ������'�+ $��" �# $!�

(��� '#��� �# $!� ���(� �#$��+*! ��. >�� ���� �� 0$� $�� �!�3��$�" ����#( ��

%�!'�������'#� $!� (��� #� ��� � '3��#'!. <$�� $#�#�2'#� ! �!&� �# +,$� *0�#�

�� �#$��+'#�, #������#( $�� ���%#���'$� $�� �� $3�� �� ���'��*0'#� $!� #� ��� �

'3��#'!. � 0�#&%�" ���" ��� #/���+4#$�� '$� standard ATM &(�#$�� �0'- #�0&%��

$�� ��*��3 �#$���'!" �#���0�-� ��+ $�" �!&0" (����&��/�" 1.4).

1.3 Wormhole routing

	 �0*���" wormhole #(��� ��+ $�" ��� �!��/��#(" '��#�� �#*+���" ���'3��#'!"

������!�-� #�#5#�&�'$2�. �$!� �#�(�$-'! $�� wormhole  �� ���� 0�� ������

%-�(4#$�� '# �� �+$#�� �� 0$�  �� $�  �*# �� 0$� %-�(4#$�� '# �� ��  ����$��

'$�*#��3 �#&0*��" ��� �0&��$�� flit. �� flits �����3� �� *#-�!*�3� ��$('$��%� $-�

ATM cells. �$!� �#�(�$-'! $�� wormhole �#� �!�����&�3�$�� #� ��� 0" '���0'#�"

+�-" '$!� �#�(�$-'! $�� ATM, ����  �*# �� 0$� �!�����&#( $!� '3��#'!  �*2"

���%-��#� �0'� '$� �( $��  �� $!� ���'��*0$#� +$�� ��� �!�-*#( ! ��0�#�'� $��

��+ ��$+. ���’ +�� ��$� '$� �#��''+$#�� �( $��, +�� $� �� 0$� ��� �!&�(���� ��+

�(� �!&� '$�� (��� ������'�+, � ����*�3� $� (��� ������$�. >�� �� 0$� ���$#�#($��

��+ $��2� #��2� flit:

1. ��� #/��(�� : $� flit ��$+ �#��0%#� $�� ������'�+ $�� �� 0$��. ������)��#� ��

#�!�#�2'#� &�� $!�  ����3�&�� '3��#'!  �*# �#$�&-&0� ��+ $�� ���(� �#���#�

�!�����&2�$�" $�� ��+�� ��� $� ��+����� flit $�� �� 0$�� *� � ����*�'���.

2. �2�� : �#��0%#� �(&#" ��!��/��(#" #�0&%��  �� �0��" $2� �#���0�-� $��

�� 0$��. >�� flit '2�� �#� �#��0%#� $!� ��!��/��(� $�� ������'��3 $��

���� ���2" � ����*#( $!� #�� #/��(��. �� ��$+� $�� �+&�, +$�� 5# ���'#�

0�� �� 0$� �� �#$��(�#$��,  ��$�#� $��" �+���" ��� 0%#�  �$���)#� �0%�� ��

��� �!�2'#� $!� �#$���'� $��. ������ ���'$#(, �� �+��� ��$�( �#� �����3� ��

%�!'������!*�3� ��+ ���� �� 0$� ��� *� �����3'�� ('-" �� #5��!�#$!*�3�.



3. ���� : ������)��#� �� ���'��*0'#� $!� '3��#'! ��� #(%# �!�����&�'#� !

#�� #/��(��. 
+�! ��!��/��(� #�0&%�� ��� �#��0%#�, +�-"  �� '$� flit−'2��,

#(��� $� �� 0$� '$� ���(� ��� #�. 
���#( � +�� �� �#��0%#�  �� $� $#�#�$�(�

�0��" $-� �#���0�-� $�� �� 0$��.

<$�� �+�� 0�� �� 0$� �� #( ��  �$���)#� +�� $�� %2�� ���*� #�'!" ��� #(���

�/�#�-�0��" '# 0��� '3��#'�� #�+" �#$�&-&0� $+$# �� ��$+ $� �� 0$� ���� ���'$#(

�����3� �� #�����'$�3� ���� �� 0$� ��� �#���3� ��+ $�� (��� '3��#'�� ����

 �$#�*3���$�� '# �����" ������'��3". ��� �� )#�$�-*�3� �� #���+'#�" $�� �� $3��,

��&��2�#$�� ! ����! $�� �#$�&-&0� �# $0$���� $�+�� 2'$# 0�� �0��" $!" �+�� ��

�/�#�2�#$�� '# 0�� �� 0$�. �$'� �!�����&�3�$�� ������� (lanes) 2'$# �� �����3�

�#��''+$#�� ��+ 0�� �� 0$� �� )�(' ��$�� '$!� ����! #�+" �#$�&-&0�. 
+��

0�� �� 0$� ����#( �� %�!'�������'#� �(� �-�(�� [DaSe 87] [Dally 90]. ��� ����

������0 ��$�� �� 0$� '$��" '���0'���" ���� '# ��$�� $!� �#�(�$-'! �����3� ��

������# $�3� $� ���3 $+'� �� 0$� +'#" �-�(�#".

1.4 ���,����� ������� − 0���$(% �(	%

>�� �( $��, #($# $!�#/-�� + #(��� #($# �( $�� �����&�'$2�, 0%#� ����$+$!$� �#$�&-−

&�" �#���0�-� �����&� �# $� �+'� ���3'�� '# �+���" #(���. �+��� #�+" �� $3�� #(���

�� '3��#'��� ��� '���0��� $�" '�' #�0" '$� � �� $�� �� $3��, �� �#$�&-&#(" #/+'��

����%���,  �� � %2��" ���*� #�'!" ��� ����%#� '$� �( $��, &�� �� ����#( ��$+ ��

��#%*#( �#$�)��0" '$!�  (�!'! ��� ���0%#$�� '$� �( $�� ��+ $�" �!&0" �#���0�-�.

��(4���# '�� /+�$� ��� #�'0�%#$�� '$� �( $�� ��+ 0��� '3��#'�� #�'+���, $�� �+&�

$�� ��*��3 �# $�� ���(� ���0%#$��  (�!'! '$� �( $�� �, ���" $�� �0&�'$� ��*�+ �#

$�� ���(� $� �( $�� ����#( �� �#%*#( $!�  (�!'! ��$� �.

l �
�

�

<$�� &�� �����#�&��, � ��*�+" �# $�� ���(� #�'0�%#$�� !  (�!'! '$� �( $�� ��+

0��� '3��#'�� #�'+��� #(��� � ��'+" ��+ $�� ��*�+ �# $�� ���(� $� �( $�� ����#( ��

�#%*#( �#���0��, � /+�$�" ��� ���0%#$�� '$� �( $�� ��+ $�� '3��#'�� ��$+� #(���

0�5. <$�� !  (�!'! ��� #�'0�%#$�� �0'� '$� �( $�� #(��� �#&��!, $� �( $�� ��%(4#�

�� &#�(4#� �#  (�!'!. ��$+ $� /���+�#�� '��#%(4#$�� +'� ��5��#� $� /��$(� �0%��

�� #�0�*#� �������� (saturation). �# ��$�� $!� �#�(�$-'!, $� �( $�� �#� ����#( ��

�#$�/0�#� �#��''+$#�!  (�!'!  �� ��%(4��� �� ���0" $-� �#$�&-&0-� �0'� '# ��$+

�� &#�(4���. � %2��" ���*� #�'!" ��� #(��� ���$#*#��0��" &��  �*# $0$��� ����

#(��� �#�����'�0��"  �� +$�� �#� ����%#� 0�#&%�" ���" #/+'�� $� �0&#*�"  �����"

����" 5#/3&#� ��+ $� #��$�#�$� +���, ��%(4��� �� $��(���� ���
��. ��$+, ��  ��



�#� #(��� #��*��!$+, '# �#�� 0" �#���$2'#�" #(��� ����# $+. �0$��#" �#���$2'#�"

0%���# +$�� �#$�/0����# /-�� ('$� $!�0/-��) � #� +��, +��� $� �� %�*�3� ���'�0��

cell #(��� ���$��+$#�� ��+ $� ��  �*�'$#��'��� ���3. �$!� �#�(�$-'! +�-" ���

�#$�/0���$�� �#���0��, ! ��2�#�� cell �#� #(��� ����# $�. �� ��+)�!�� ��$+ ����#(

�� ��$��#$-��'$#( �# �3� $�+���":

1. '# �#�(�$-'! ��� #��$�0�#$�� �� %�*�3� �#���0�� �+&- ��#�%#(��'!", ! ����−

�-'! ��+ $!� ��2�#�� &(�#$�� �0'- #�����#$���'!". �$� � �� $!" '3��#'!"

#/���+4#$�� 0�� ��-$+ ���� $� ���(� ������)��#� �� )�#� �� ����%��� ��2−

�#�#" ��+ �#���0��  �� ��  �$� $0$��� ����$!�!*#(, � �������$!" #������#( $��

���'$��0� �� 5���'$#(�#� $� �#���0�� ��� $�� �#(����. 	 �0*���" ��$� #(���

���� �� ������!*#( ���� $� ���$#�0'��$� $!" �#� #(��� � ������!$� � '# ���−

'�0�#" �#���$2'#�". 
���#( &�� �����#�&�� $� �( $�� �� 0%#� �#&��!  (�!'!,

�# ���$0�#'��, $� cell �� %����$�� #�#��� �� ���0" &#�(4���. �� ��&�'�� +

��� *� ���%�#3'#� ��$�� $!� ��2�#��, *� ����&#� #����+'*#$!  (�!'! &�� ��

#�������'#� $!� �!&� &�� $�" ��2�#�#",  �� ! �!&� *� ����&#� �0�  (�!'! ��+

$!� ���(�, #/+'�� '��#%(4#$�� ! ��������� (congestion)  �$� ��'� ��*��+$!$�

*� %�*�3�  �� ���� �#���0�� ���" $�� (��� ������'�+  .�. . [Kung 92]  �� $�

���)�!�� �� ��!&�'#� '$!� ��
������� (collapse) $�� �� $3��.

2. +$�� �#� #��$�0�#$�� ��#�%#(��'! �����3�# �� 0%���# ���/�&� $�� ��*��".

�/+'��  �$� $!� ���� #�� $!" �#$���'!", #5�'/���'$#( +$� �#� *� %�*#( cell

#5’ ��$(�"  �����" ��#�%#(��'!" ����", $+$# �#� #(��� ��*��� ! ��2�#�� cell.

���$-" �#� ��� �#(#$�� #�$#�2" ! ��*��+$!$� ��$� &��$( ����%���  �� $�

��*! �+&- *��3)�� '$�" &����0" �#$���'!". Y�� � �!%���'�+" #�0&%�� �0'-

��&�'�� �3 �#� #(��� �#��$$+" ���� �#� %�#��4#$�� �� %�!'������#($�� '�%��

&�� �� �����2�#� ��+ ��2�#�#" cell  �� ! ��+��'! )#�$�2�#$��.

�� �0*���� ��� %�!'�������3�$�� &�� $�� 0�#&%� $!" ���" $!"  (�!'!" #(��� ��

� +���*#":

� >�#&%�" ��*��3 �#$���'!" (rate based flow control): 	 �0*���" ��$� #/���+4#−

$�� +$�� 0%���# #��$3%#� '3��#'!�#$�53 �!&�"  �� ������'��3  �� #/���+4#$��

'$� � �� $!" '3��#'!" ��$�". 	 &#�� � ��0� $!" �#*+��� #(��� +$� +$�� '#

 ����� '!�#(� $�� �� $3�� #�/���'$#( '��/+�!'! (congestion), � �#$�&-&0�"

��� $!� ����$!�#( &��/#� $!� ��!��/��(� ��$� '# 0�� #��� + �#�(�  �*# cell

��� �#���#� ��+ ��$+�  �� +$�� � ������'�+", �����'$2'#� +$�  ���� #�/�−

�('$! # '��/+�!'!, #������#( $!� �!&� �� �#�2'#� $�� ��*�+ �# $�� ���(�

�#$��(�#� $� �#���0�� $!". ����%��� ���/��#" �������&0" ��$�" $!" �#*+���

�#  ���+$#�! +$� ! �!&� �#�2�#� $�� ��*�+ $!"  �*# /��� ��� '$0��#� 0�� cell

 �� #/+'�� �#� ����$!�!*#( '��-'$�'�+" '$� �( $��, � ������'�+" #������#(



$!� �!&� �� ��5�'#�  �� ���� $�� ��*�+ �# $�� ���(� '$0��#� $� �#���0�� $!"

[OMSI 95]. ��$� ! �0*���" �#� #5�'/��(4#� +$� �#� *� %�*�3� cells #5’��$(�" $!"

��#%#(��'!"  �����" ����" ���� +$�� '%#���'$#(  ��� ����#( �� �#�2'#� $!�

��*��+$!$� �� '��)#( �(� $0$��� �#�(�$-'!,  �*2" *� �����'$-*#( ! '��/+�!'!

#& �(�-"  �� *� �#�-*#( � ��*�+" �# $�� ���(� �#$��(���$�� $� �#���0�� ��+ $�"

�!&0". <$�� %�*#(  ����� cell, %�!'������#($�� �  �$���!��" �!%���'�+" &��

�� #�����#$���*#( #/+'�� ��$+ #(��� �����($!$�.

X

Return credit

Y Transmit cell

A B

X

�%��� 1.3: ���*� #" &�� �����$� � �#�$���&(�

� ��!'�����(!'! #�'�$!�(-� (credit based flow control): 	 �0*���" ��$� #/��−

�+4#$�� ����#'� '# �#$�&-&#(". 	 &#�� � ��0� $!" �#*+��� #(��� +$� 0��"

�#$�&-&0�" �#� '$0��#� '$�� #�+�#�+  ����� cell, #/+'�� �#� 50�#� +$� ��$+" *�

0%#� %2�� #�#3*#�� &�� �� $� �#%*#(. 	 ��!��/��(� &�� $� �� ����%#� #�#3*#�!

*0'! &(�#$�� &�-'$� �0'- $-� #�'�$!�(-�. >��" �#$�&-&0�" 0%#� ��%� � 0��

���*�" ��+ #�'�$���� &��  �*# ���� �#$�&-&0� �# $�� ���(� '���0#$��. ��*#

/��� ��� �#$��(�#� 0�� cell, �#�2�#�  �� $� ���*�" $-� #�'�$!�(-� ��� ���*0$#�

&�� $�� �#$�&-&0� '$�� ���(� *� ��#� ��$+ $� cell. �/+'�� $#�#�2'��� $� #�−

'�$���� ���"  ����� �#$�&-&0�, ��$+ '!��(�#� +$� �#� #(��� )0)��� +$� ����%#�

#�#3*#��" %2��" # #(  �� ��� '$���$�#� ! ���'$��� �0-� cells. � �#$�&-&0�"

$+$# �#���0�#� �0%�� �� ��)#� '��� ��+ $�� #�+�#�� +$� �#$0��'#  ����� cells

 �� ����%��� #�#3*#�#" *0'#�" '# ��$+�. �� '��� (cell) ��$+ ��� ��#( $!� ��−

��%� #�'�$!�(-�  �� �+��" � ��2$�" �#$�&-&0�" $� ��)#�, ��5��#� $�� �#$�!$�

$-� #�'�$!�(-� ���" $�� �#$�&-&0� ��+ $�� ���(� 0��)# $!� ��#��. �� 0%#� cells

��� ��0�#� �� �������&!*�3� # #(, '��#%(4#� $!� �#$���'� $��". 	 �0*���"

��$� #5�'/��(4#� +$� �#� *� %�*�3� cells #�#���  ����� ���� ��#�%#��(4#�, ����

 �� #�2 %�#��4#$�� ! 3���5! ��-$� +��-� &��$( *� ��0�#� �� �����3� �� ���−

%�#�$�3� cells ��� %����$�� #5’��$(�" $�� *��3)�� '$�" &����0" �#$���'!", ��

 �� $� /���+�#�� #(��� '����� �+&- $!" �5����'$(�" $-� &����2�. ���/+�!'!

�# $!� 0����� ��� �#��&��=��# ���!&���0�-", �#� ����#( �� ����$!�!*#(, �/�3



!  (�!'! ��� *� �����3'# �� $!� ��� ��0'#� �#� #�'0�%#$�� '$� �( $��. ���

�� �!� %��#$�� #3��" 42�!" (bandwidth) *� ��0�#� �� � ������#($�� ! � +���*!

'%0'! [Kate 94]:

���*�" #�'�$!�(-� �
%�+��" #����/���"
�0&�'$! ����%�

� ���
�� ���
������ (round−trip delay) #(��� � #��%�'$�" ����$�3�#��" %�+��"

��� �#'���)#( �#$�53 $!" ���%2�!'!" #�+" cell � ��+ 0��� �#$�&-&0� � ���"

0��� �#$�&-&0� _, �0%�� $!� '$�&�� ��� ! �#$���'! #�+" �0�� �� 0$�� ����#(

�� 5# ���'#� ��+ $�� � #5’ ��$(�" $!" �/�5!" $�� #�'�$!�(�� ��� �!�����&�*! #

��+ $!� ���%2�!'! $�� � ��+ $�� _ ('%��� 1.3). 	 �0&�'$! ����%� #(���

� �0&�'$�" ��*�+" �# $�� ���(� � �#$�&-&0�" � ����#( �� '$#(�#� cells '$��

�#$�&-&0� _ ('%��� 1.3).

1.5 �( ���+���� �(� �����	����

	 #�&�'(� ��$� �#�#$�#� $!� '���#��/��� $-� �� $3-� ��� 0%��� ��%�$# $��� �

ATM �# 0�#&%� ���" �# #�'�$����  �� $!� '�& �(�#� �# $!� '���#��/��� $-�

�� $3-� ��� %�!'�������3� wormhole routing. ��*2" ! $#%����&(� ��" ��!&#(

'$!� '3��#'! '$�*�2� #�&�'(�" �0'- �� $3-� �=!�2� #���+'#-� [NBKP 95] &��

�� #��$3%���# #���+'#�" ��� ��!'��4��� $�" #���+'#�" ������!�-� �����&�'$2�,

�� �3� ������/#�*�'#" $#%����&(#" #(��� ���=�/�#" �� %�!'������!*�3� &�� $!�

 �$�' #�� $��".

	 $#%����&(� ATM, #($# %-�(" 0�#&%� ���" #($# �# 0�#&%� $�� ��*��3 �#$���'!"

�#���0�-� ��+ $�" �!&0", #/���+4#$�� '��#��, �# #��$�%(�, '# �( $�� #��#(�"

�#���%�". �� ���'$#*#( 0�#&%�" ���" �# #�'�$����, ��3#� �� ����%#� ! �! #��*��!$�

���+$!$� $�� �� %����$�� cells  �� ! $#%����&(� ATM &(�#$�� #� �'$� � &�� ��

%�!'������!*#(  �� '$�� %2�� $-� $��� 2� �� $3-�. ���'*0'��# � +�� '$� ATM

$!� 0����� $!" �-�(��" &�� �� �!� #��$�0����#�(� ��� �#���0�-����" 0��������'�+

��� �0%#$�� ���3  (�!'!, �� &#�('#� �' ��� $!� ����! #�+" �#$�&-&0�  �� �� �!�

�/�'#� ���#" ��0" �� #5��!�#$!*�3�.

	 $#%����&(� wormhole %�!'������#($�� '��#�� '# �����3" ������!���" ���−

��&�'$0"  �� *#-�#($��  �$���!�! &�� $!� �!�����&(� �� $3-� �=!�2� #���+'#-�.

	 ��+��'! �� $3-� ��� %�!'�������3� wormhole routing �#�#$�*! # '$!� #�&�'(�

[Dally 90]. �# # #(�! $!� #�&�'(� �#�#$�*! # 0�� �+�� �0&#*�" �� 0$��  �� $� �� 0$�

��� ����&�&# �(� �!&�  �$��0���$�� ����+���/� '$��" ������'��3". ��# $#(���#

$!� �#�0$! &�� $!� �#�(�$-'! $�� wormhole  �� '$�" �#���$2'#�" ��� $� �0&#*�" ��−

 0$�� �#$�)���#$��  �*2"  �� +$�� ����%��� ������'��( ��� �0%��$�� �#��''+$#�!



 (�!'! ��+ �����". ��� �� '�& �(����# $� �3� #(�! ��%�$# $��� 2�, #������)��# $�

�#�����$� ��$�  �� '$!� �#�(�$-'! $�� ATM �# 0�#&%� ���" �# #�'�$����.

�� ���'����2'#�" ��" �#(%���� +$� $� ATM �( $�� 0%#� ���3  ��� ����%�

(throughput) �# �� �+$#�� �0&#*�" ����!". �� �( $�� ����'$� �# �#��''+$#�#" ��+

�(� �-�(�#" �#� #�!�#�4��$�� ��+ �#&��3$#�� �#&0*! �� 0$-�. <$�� ����%��� *#���

'!�#(�, !  (�!'! ��� �#�  �$#�*3�#$�� ���" ��$�, �#� #�!�#�4#$�� ��+ $!�  (�!'!

���  �$#�*3�#$�� '$� *#��� '!�#(�, �� #( �� ����%��� �(&#" �#��''+$#�#" �-�(�#"

��+ $� ���*�" $-� *#��2� '!�#(-�.

�� wormhole 0%#� %��!�+$#�#" #���+'#�" '%#�+� '# +�#" $�" �#���$2'#�". 
+��

'# %��!�� /��$(�  �� ����+���/! Poisson  (�!'! #�/��(4#� ���+���#" #���+'#�"

+$�� 0%#� �� #$0" �-�(�#". ����($#�� ��+ '��*� #" # �! $� �"  (�!'!"  ��  (�!'!"

�# *#��� '!�#(�, +$�� $� ���*�" $-� �-�(�-� #(��� �� �+, �� #���+'#�" $�� �#� #(���

 ��0".

	 ��+����! #�&�'(� 0%#� $!� � +���*! ����. �$�  #/����� 2 �#��&��/��$�� ��

)�'� 0" ��%0" #�+" �� $3�� ATM  �*2"  �� � $�+��" ��� �������'��# $�� 0�#&%�

���" &�� $!� #�&�'(�. �$�  #/����� 3 �#��&��/��$�� $� ���$0�� ��� �������*! ��

'$�� ���'����-$�  �*2"  �� ! )�)���*� ! ���'$���5!" ��� %�!'�������*! #.

�$�  #/����� 4 ���/0���$�� $� �#�����$� � ���$#�0'��$�,  �� '$�  #/����� 5 $�

'���#��'��$� ��+ $!� #�&�'(� ��$�.





'�,����( 2

)����� ATM

�� �( $�� ATM ���$#��3�$�� ��+ ��
������� (switches). 
#$�53 �(�" �!&�"  (�!'!"

 �� #�+" ������'��3 ���#�)�����$�� 0��" � �#��''+$#��� �#$�&-&#(". >��" �#$�−

&-&0�" ����#( &�� ���+$!$� �� *#-�!*#( +$� #(��� 0�� " ��$(" �# � #�'+���"  �� 


#5+���". � ��+" $�� #(��� �� ���-*�'#� '$�"  �$���!�#" #5+���" $�� $� �� 0$� ���

/$����� '$�" #�'+���" $��. <$�� 0�� �� 0$� /$�'#� '# �(� #('��+ $��, � �#$�&-&0�"

��0�#� �� 0%#� ��!��/��(� &�� �� )�#� ���� 05��� *� %�!'�������'#� ��$+ $� �� 0$�.

��$� $!� �����&(�, � �#$�&-&0�" ���������� (routes) $� �� 0$� '$!�  �$���!�!

05���. ��#��� +�-" #(��� ��*��+ ��+ ���/��#$� 0" #�'+���" �� #�'0�%��$�� $��$+−

%���� �� 0$� ��� �!&�(���� '$!� (��� 05���, 0��" �#$�&-&0�" ��0�#� �� 0%#�  ��

$!� ����$+$!$� $!" ����������� (buffering) �#�� 2� ��+ $� �� 0$� ��� '�& ��3��$��

(confict) '$�" #5+���" [Toba 90].

�� �0*���� �# $�" ���(#" &(�#$�� ! ������+&!'! ���/0���� -" ���" $�� %�+��

��� ����#( �� 5# ���'#� 0�� �� 0$� �� �#$��(�#$�� ��+ $�" #5+���" $�� �#$�&-&0�.

����+$#�� *� 0��#�# �� /$�'#� ��+ �!�� $� �� 0$� '# 0�� �#$�&-&0� &�� �� ��%('#�

! �#$���'� $�� ��+ $��  �$���!�� '3��#'�� #5+���. 	 �0*���" ��$� #(��� &�-'$� -"

���������� ��� ���	���� (store−and−forward). 
# $!� )#�$(-'! $!" $#%����&(�"  ��

 �$- ��+ ���/��#$� 0" '��*� #" 0&��# ����$� ! 0���5! $!" �#$���'!" #�+" �� 0$��

'$�� #�+�#�� �#$�&-&0� �� &(�#� � +��  �� +$�� 0�� �� �+  ����$� $�� �� 0$��

('���*-" ! #�� #/��(�� $��) /$�'#� '$�� ���+�$� �#$�&-&0�. �������&0" ��$�3 $��

$�+��� #(��� $� cut through  �� $� wormhole. 	 )�'� +$#�! ���/��� �#$�53 $��" #(���

+$� '$� cut through �/�#�2�#$�� %2��" &�� ��+ �!�� $� �� 0$� '# 0��� �#$�&-&0�  ��

0$'� �� ��$+ ���� ���'$#(  �$����)��#� �+�� ��$+� $�� %2��, #�2 '$!� �#�(�$-'!

$�� wormhole �#� �/�#�2�#$�� %2��" '# 0��� �#$�&-&0� &�� 0�� �� 0$� [Dally 90]  ��

+$�� ��$+ ���� ���'$#(, $����$� $�� )�(' ��$�� '# ���/��#$� �3" �#$�&-&#(".

�/+'�� ����� �� 0$� '�& ��3��$�� '$�" #5+���" $�� �#$�&-&0�, #(��� ����$+ ��

��#�%#��('#� �%2��"���*� #�'!" �� ������%#���2�#���� 0$-� (����&��/�" 1.4).

��� ���!������'��'$�3� ��$�3 $�� #(���" $����)����$� #/���+4#$�� 0�#&%�" ���",
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2'$# �!� %����$�� �� 0$� �+&- ��#�%#(��'!" $�� %2��� ���*� #�'!".

2.1 M
�(�(� ��
�$(� �(	% �� �����	���

��� $!� ���%#(��'! $!" ����!"  �$� $!� �����(!'! �(�" �#*+��� #�0&%�� ���" �#

#�'�$���� ����%��� ���/��#" �#*�����&(#":

� ��������4+�#��" %2��" ���*� #�'!" %-�(" 0�#&%�. �’ ��$� $!� ��&��-'!

����!" � ���*0'���" %2��" ���*� #�'!" #�+" �#$�&-&0� #(���  ���+%�!'$�"

&�� +�#" $�" ��0" �#���0�-� ��� ��0�%��$�� �0'� ��+ ��$+�. �/+'�� +�#"

�� '���0'#�" ��� %�!'�������3� 0�� �#$�&-&0� '���&-�(4��$�� &�� $�� %2��

��$+�, ����%#� �#�(�$-'!  ����� '3��#'! ��� 0%#� �#&��!  (�!'! �� ����−

�-�#( $!� %��'! $�� %2��� '# )���" '���0'#-� ��� �#� 0%��� '��#%� ���.

>$'� �#� ����%#� 0�#&%�" &�� $� ���� ���  �$����)��#� �+'� %2��, �0'� '$��

�#$�&-&0�. ��$+ ����#( �� �!�����&#( ���'�0�#" ��� (#" -" ���" $!� %��'!

$�� %2���, ���� ��$� ! �0*���" #��$�&%��#�  ��� %�!'�����(!'! $�� %2���

���*� #�'!", &��$(  ����� cell ��� *0�#� �� %�!'�������'#� $�� �#$�&-&0� ���

���*0$#� #�#3*#�� %2��, ����#( �� �#��'#�. >�� ���� �#���0 $!�� $!" �#*+−

��� #(��� +$� !  (�!'! ���" ���" ����#( �� #�!�#�4#� $!�  (�!'! $-� ���-�,

+�-" &�� �����#�&�� +$�� ����%#� 0�� *#��+ '!�#(�, ����#( �� �!�����&�3�$��

'!�#(� '��/+�!'!" #�2 $� ��+����� �( $�� �� ���%�!'������#($��.

�  �$��#�!�0��" %2��" ���*� #�'!" %-�(" 0�#&%�. �’ ��$� $!� ��&��-'! ���−

�!" � ���*0'���" %2��" ���*� #�'!" ��������4#$�� �#$�53 +�-� $-� '���0'#-�

'$�$� �. ��2 �#� ����%#� $� �#���0 $!�� �� ����#(  ����� '3��#'! �� ��� #(

$�" ���#", �/�3 +�#"  �$����)����� $!� (��� ��'+$!$� %2��� '$!� ����!.

��$��0���$�" $�� %2�� ���*� #�'!" �#$�53 $-� '���0'#-� �#� #��$�&%��#$��

 ��� %�!'�����(!'! $�� %2���. ���'�0�#" '���0'#�" ����#( �� �!� %�!'���−

����3� '��0%#�� $�� %2�� ��� $��" #(��� ���$#*!�0��"  �� 0$'� ��$+" �� �0�#�

�%�!'�����(!$�", #�2 $��$+%���� �#� �����3� �� �!�����&!*�3� �0#" '��−

�0'#�" ��� *� �����3'�� �� $�" %�!'�������'���. 	 �#�(�$-'! ��$� ����4#�

�# $!� �#�(�$-'! $!" ���'3��#'!" �# �#$�&-&�  � �2��$�" (circuit switching).

�’ ��$� $!� �#�(�$-'! +�-", � �+��" $�� �� $3�� ��� ���%�!'������#($�� �#�

#(��� $� /�'� + �0'� ('3���), ���� � %2��" ���*� #�'!" ��� ���$(*#$�� '$!�

'3��#'!.

� ��������4+�#��" %2��" ���*� #�'!" �# 0�#&%�. �’ ��$� $!� ��&��-'! ����!"

� ���*0'���" %2��" ���*� #�'!" #(���  ���+%�!'$�" '# +�#" $�" '���0'#�"

��� ��0�%��$�� ��+ ��$+�. ��$+ '!��(�#� +$� $2�� ����%#� 0�#&%�" &�� $�

���� '3��#'! %�!'������#( �+'�� %2��. 
����3� ����+� �� �#��'��� ����0"



'���0'#�" ��+ $�� �#$�&-&0�, ���� �#� ����#( �(� '3��#'! �� �����-��'#�

+��� $�� ���*0'��� %2��. 
# ��$+� $�� $�+�� 5#�#���3�$�� $� ���)����$� ���

#(%��# '$�" ���!&�3�#�#" �#*+���" &��$( �3$# �(� '3��#'! ����#( �� #�!�#�'#�

+�#" $�" ���#", �3$# 0%���# ���%�!'�����(!'! $�� ���*! #�$� �3 %2���. ���

�� ������!*#( ��$� ! �0*���" %�#��4#$�� ! ��&� � $�� #�0&%��  �*# ���"  �*2"

 �� +$� � �#$�&-&0�" *� ��0�#� �� ����#( �� %#���'$#(  �*# ��� 5#%-��'$�. ���

$��" ' ���3" $!" #�&�'(�", �(� ��� �#���0�-�  �*��(4#$�� ��+ $�� ������'�+

$!". �#-��3�# +$�, # $+" $��  ����� �3 #�'�$!�(�� ��� ����$#( ! �0*���"

#�0&%�� ���" �# #�'�$����, ����%#�  �� ���� 0�� #�'�$���� ��� ��0�#� �� #(���

���*0'��� &�� �� ���%-��'#� 0�� cell  �� ��$+ #(��� $� #�'�$���� ������'��3.

��$+ ���'$(*#$�� &�� �� �!� #��$�0�#$�� �� ���%-��'��� �#��''+$#�� cells

���  �$#�*3���$�� '$�� (��� ������'�+ ��+ +'� ����#� �3#� $� �0&�'$� ���*�"

#�'�$!�(-� ������'��3, %-�(" ���!&���0�-" �� #��'$�0=#� �('- #�'�$���� ���

�� ����#� �3#� +$� ��#��'# #� $- �#$�53 �(� *0'! '$�� #�+�#�� �#$�&-&0� &�

��$� $!� ���. 
# ��$+� $�� $�+�� �#� ����#( ��� ��� �� �����-�#( $�� %2��

���*� #�'!" $�� �#$�&-&0�.

2.2 ���(���
% ����
���% ��� (����% �(	%

�# 0�� �( $�� ATM ! '3��#'! �#$�53 �(�" �!&�"  �� #�+" ������'��3 &(�#$��

�0'- ����
��	
 ��
�����
 (virtual connections). 
(� #� ��� � '3��#'!  �*��(4#�

0�� ������$� �0'� '# 0�� �( $�� $� ���(� *� ��0�#� �� � ����*�'#� ���������$#

cell *0�#� �� �#$���*#( ��+ $!� �!&� '$�� ������'�+ ��� '���0#� ��$� ! #� ��� �

'3��#'! [Walr 91]. �� #� ��� 0" '���0'#�" ��*�� ��  ��3=��� �(� ������(� ��� #(%��

$� $!�#/-�� � �( $��: $� ��  �$����)��#� �(� '3��#'! 0�� /�'� +  �����('3���)

 �� �� 0%#� ��� �#�'$� � %��'! ��$�3 �'%0$-" $�� �� $� %�!'������#( '��0%#��

� +%�. <$�� �(� '3��#'! #��$�&%��#$�� �0'- �(�" #� ��� �" '3��#'!", $� /�'� +

 ����� �#� ���$(*#$�� ��� �#�'$� � '’ ��$�� $!� '3��#'!, ���� $����$� $�� �����3�

�� ���$#*�3�  �� '# ���#" #� ��� 0" '���0'#�". 
# ��$+� $�� $�+�� ���'���0#$��

! '3��#'! ��+ $� /�'� + �0'�  �� #��$�&%��#$�� ���$#�#'��$� +$#�! %��'! $��

�� $3��. ��� �� �!�����&!*#( �(� #� ��� � '3��#'!,  �*# �#$�&-&0�" %�#��4#$�� ��

���*0$#� 0��� �(�� � ��� ��  ��$�#� ��!��/��(#" &�� $!� '3��#'!. � �(�� �" ��$+"

#(��� �0��" $����
��� ������������ (routing table).>%��$�" �#���0���" $��'3��#'��

#�'+���  �� $�� ���*�+ $!" #� ��� �" '3��#'!" '$�� ���+�$� �#$�&-&0�, � �(�� �"

���0%#� $�� '3��#'�� #5+���  �� $�� ���*�+ $!" #� ��� �" '3��#'!" '$�� #�+�#��

�#$�&-&0�. 	 ��!��/��(� &�� $�� ���*�+ $!" #� ��� �" '3��#'!" )�(' #$�� �0'�

'$!� #�� #/��(�� $�� cell, '$!� ���(� &��/#$�� � ���*�+" $!" #� ��� �" '3��#'!" ���

$� cell *� %�!'�������'#� '$�� #�+�#�� �#$�&-&0�. 	 #� ��� � '3��#'! /$��%�#$��



��+ $�� %#���'$� $�� �� $3��  �� ����#( #($# �� #(��� �+���! #($# �� ���� #( �+��

+'� ���� #( ! �#$�/���  �� �#$� �� ���'��$(*#$��.

��� $!� #�&�'(� ��$�, ��$( $!" 0�����" $!" #� ��� �" '3��#'!", %�!'�������*! #

! 0����� $!" ������ ���� (flow group). ��& # ���0��,  �*# �� 0$� ��� #� '# �(�

����� ���", ! ���(�  �*��(4#$�� ��� �#�'$� � ��+ $��  �$����-$� &�� $�� ���(�

�����(4#$��. ���#�2" ! ����� ���" ��� %�!'������#($�� ��+ 0�� �� 0$� '���(�$#�

�# $!� ����� ���" ��� *� %�!'�������3'# ���������$# �� 0$� ��+ +���  �� ��

5# ���3'#, #/+'�� #(%# $�� (��� ������'�+. �!�#�-$0�� +$�, ��  �� ���+���� �#

$!� 0����� $!" #� ��� �" '3��#'!", ! 0����� $!" �����" ���" ���/0�#� '$� +$�

����#( '$!� (��� ����� ���" �� ��� ��� �� 0$� ���#�%+�#�� ��+ ���/��#$� 0"

�!&0". <�-"  �� '$!� �#�(�$-'! $-� #� ��� 2� '���0'#-�, $� /�'� + �0'� ���

'���0#�  ������ ����&-&+�# ������  �$����-$��#� %�!'������#($�� ��� �#�'$� �

��+ �(� ����� ���", ���� �#��''+$#�#" $!" �(�", �� ���(#" ������0 ��$�� '$��"

'���0'���". <�-" ��$(*#$� ��+ $!� �#�(�$-'! $-� #� ��� 2� '���0'#-�, �� 0$�

��� ���0�%��$�� ��+ ���/��#$� 0" �!&0" ���� �!&�(���� '$�� (��� ������'�+,

%�!'�������3� $��" (����"�+���" $���� $3��. �������%�#��4#$��'# �*#�#$�&-&0�

0��" �(�� �" ������+&!'!" ��� �� ���$!�#( ��!��/��(#" &�� $�" '���0'#�"  ��

�����&� �# $�� ������'�+ $�� �� 0$�� ��  �*��(4#$�� � '3��#'��" #5+��� ���

��0�#� �� � ����*!*#(. � ������'�+" $�� �� 0$�� �#��0%#$�� '$!� #�� #/��(�� $��.


(� ����� ���" ��%� ����#($�� '$!� /�'! #�#�&���(!'!" $�� �� $3��  �� �����0�#�

#�#�&� '��#%2".

A

B

C
Routing Table

Routing Table

Routing Table
A
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C

i i

i

Routing Table Routing Table

Routing Table

(�) ���*#'! �+�-� '# #� ��� 0" '���0'#�". ()) ���*#'! �+�-� '# ����#" ���".

�%��� 2.1: �� ��� 0" '���0'#�"  �� ����#" ���".

�$� '%��� 2.1 (�) /�(�#$�� � $�+��" �# $�� ���(� �!�����&#($�� �(� #� ��� �

'3��#'! +��� '#  �*# �#$�&-&0�,  �*# �0� #� ��� � '3��#'!  �$����)��#� �(�

#�#3*#�! *0'!'$�� �(�� � ������+&!'!"  �� ��� ���/��#$� �3" �+���" $�� �� $3��.

�$� '%��� 2.1 ()) /�(�#$�� +$� �(� ����� ���"  �$����)��#� ���$� $!� (��� *0'!

'$�� �(�� � ������+&!'!" ($!� *0'! ���  �*��(4#$�� ��+ $�� ������'�+ $!" �����"



���"),  �� ��� �#� %�#��4#$�� �� /$��%*#(  ����3��� '3��#'!. 
# ��$+� $�� $�+��

#��$�&%��#$�� ! '�&%2�#�'! $-� ����-� ���"  ��  �*# �� 0$� ��� %�!'������#( $!�

(��� ����� ���", %�!'������#(  �� $��" (����" �+���" $�� �� $3��.

2.3 

�(�(% ��
�$(� �(	% �(� �����(� ATM

H �0*���" #�0&%�� ���" ��� %�!'�������*! # #(��� ! � +���*!: &�� �� ���%-��'#�

0�� cell ��+ $!� �!&� � ��+ 0��� �#$�&-&0� '#  ������ ���� �#$�&-&0�, *� ��0�#�

�� 0%#� ���*0'��� �3� #(�! #�'�$!�(-� &�� ��  �$����2'#�.

� ��'�$���� ���%2�!'!". ��$+ #(��� $� #�'�$���� $!" ��+$��!" �0*���� #�0&%��

���" �# #�'�$����  �� ����#� �3#� +$� '$�� #�+�#�� �#$�&-&0� ����%#� %2��"

&�� �� ���*! #3'#� $� cell. ���  �*# '3��#'�� #5+��� ��+ $�� �#$�&-&0�

����%#� 0��" �#$�!$�" (Pool Credit Counter) ���  ��$� $� �+'#" *0'#�", $�

#��%�'$�, ���*0$#� � #�+�#��" �#$�&-&0�" &�� �� �#%*#( cell. >�� cell �#�

����#( �� /3&#� ��+ 0��� �#$�&-&0�, #/+'�� � �#$�!$�" ��$+" #(��� �!�#�� +".

<$�� ��%('#� 0�� cell �� �#$��(�#$��, ! $��� $�� �#$�!$� ��� ��$�'$��%#( '$��

'3��#'�� #5+��� ��+ $�� ���(� �#$��(�#$�� $� cell �#�2�#$��  �$� 0��. <$�� 0��

#�'�$���� /$�'#� '$�� �#$�&-&0�, ! $��� $�� ��$('$��%�� �#$�!$� ��5��#$��

 �$� 0��. �� � �#$�!$�" ��$+" ��%� ����!*#( '$!� $��� $-� *0'#-� ����!"

��� ���*0$#� � #�+�#��" �#$�&-&0�" '$�� ���+�$�, $+$# #/+'�� � �#$�!$�" �#�

#(��� �!�#�� +", ����%#� #�#3*#�! *0'! '$�� #�+�#�� �#$�&-&0�.

� ��'�$���� ������'��3. �� #�'�$���� ��$+ ���$!�#($�� '# 0��� �(�� � (Dest

Credit Table) �# �0&#*�" +'�  �� �� ������'��( $�� �� $3��. E�� cell �#�

����#( �� /3&#� ��+ 0��� �#$�&-&0� #/+'�� � �#$�!$�" ��$+" #(��� �!�#�� +".

<$�� ��%('#� 0�� cell �� �#$��(�#$��, ! $��� $�� �#$�!$� ��� ��$�'$��%#(

'$�� ������'�+ $�� �#�2�#$��  �$� 0��. �� �0&�'$� ���*�" $-� #�'�$!�(-�

������'��3 #(��� ���3 '!���$� � �����#$��" $!" ���'���(-'!" &��$( ��$+

 �$�  3��� �+&� �#(%�#� $� �0&�'$� ���*�" cells �# $�� (��� ������'�+ ���

����#( 0��" �#$�&-&0�" �� '$#(�#� '$�� #�+�#�+ $�� %-�(" �� &��('#� �('-

#�'�$����  ��  �$’ #�0 $�'!, �+'� %2�� '$!� ����!  �$����)��#� �(� �����

���", +$�� ��$� ���� ���'$#(. ��$� #(���  �� ! 0����� $!" �-�(��". .����2�$�"

$� ���*�" $-� *0'#-� ����!" ��� 0��" �#$�&-&0�" ���*0$#� &��  �*# '3��#'��

#�'+��� $�� �# $!� �0&�'$! $��� ��� ����#( �� ������ $� #�'�$���� ������'��3,

0%���# $� �'��3���� $�� ���*��" $-� �-�(�-� $�� wormhole &�� $� ATM.

�(���  �$���!$+ +$� #/+'�� $� �0&�'$� ���*�" $-� #�'�$!�(-� ������'��3 #(���

�#&��3$#�� � ('� $�� �0&�'$�� ���*��" $-� #�'�$!�(-� ���%2�!'!", $+$# ��#�#�−

&�����3�# $�� 0�#&%� ���" �# #�'�$���� ������'��3  �� �/�����# �+�� $�� 0�#&%�



���" �# #�'�$���� ���%2�!'!". �� ���*�" $-� �-�(�-� '# ��$�� $!� �#�(�$-'!

#(��� 1 �/�3 �(� ���, #/+'�� ���� ���'$#(, ����#( ��  �$���)#� +��� $�� ���*0'���

%2�� ��� � �#$�&-&0�" ���*0$#� '$�� '3��#'�� ��+ $�� ���(� #�'0�%#$�� ! ��� ��$�.

...
Pool Credit Counter

Dest. Credit Table

N

2

1

�%��� 2.2: >�#&%�" ���" �# �3� #�'�$����

2.4 ���$6����� (����� �(	% ��� (��(�(��� �����

<�-" '!�#�2*! # ���!&���0�-", '# ��$�� $!� #�&�'(� %�!'������#($�� ! 0����� $!"

�����" ���" (flow group). � �+��" $�� �� $3�� ��� ����#( �� ���$#*#( '# �(� �����

���" #(��� � %2��" ���*� #�'!". <$�� �(� ������ %2��� ���*� #�'!" ���$#*#( '#

�(� ����� ���", $+$# �+�� ��$� ����#( �� $�� %�!'�������'#�. �� /�'� �  ������,

��� ���$#��3�  �� ��$� �+�� $�� �� $3��, �#� ���$(*#�$�� '# ����#" ���". 
#

$�� +�� �
����� �
�� ����� �� ��� ��
����, '# �(� #� ��� � '3��#'! � '# �(� �����

���", #����3�# +$� '# �#�(�$-'! ��� �� '��*� #"  � ��/��(�" �#� #(���  ��0"  ��

���& �'$#( ! '3��#'! � ! ��� �� ���� ���'$#(, $+$# �#� ���%�#�3$�� �� �/�'#� $��"

�+���" ���  �$0%#�, &�� �� #5��!�#$!*#( ���! ���. 	 ����� ���" �0'� '$!� ���(�

 ��#($�� 0�� �� 0$�,  �*��(4#$�� ��+ $�� ������'�+ $��. .3� �� 0$� ��� 5# ����#

��+ ���/��#$� 0" �!&0" $�� �� $3��  ��  �$#�*3���$�� '$�� (��� ������'�+, #/+'��

 ����� '$�&�� '����$!*�3� '# 0��� �#$�&-&0�, *� '��#%('��� ��+ # #(  �� �0��

'$!� (��� ����� ���"  �� ��� *�  �$����2���� $��" (����" �+���" $�� �� $3��. ��$+

#��$�&%��#$�� �# $�� � +���*� $�+��:

&��  �*# cell #�0&%#$�� � ������'�+" $��. ��*# /��� ��� 0�� cell /3&#� ��+ 0���

�#$�&-&0�  �$����2�#�  �� 0�� #�'�$���� ������'��3. Y��, ��#5��$!$� ��+ $!�

�!&� $�� cell, $� #�'�$���� ���  �$����2�#� 0%��� '%0'! �# $�� ������'�+ $��. ��*#

�� 0$� ��+ ��$� ���  �$#�*3���$�� '$�� (��� ������'�+, '���&-�(4��$�� &�� $� (���

#�'�$����  �� ��� ��� ��� '$!� (��� ����� ���".

�� �#� '��0)���# '�&%2�#�'! ����-� ���", �� ����#" �# $�� (��� ������'�+

*�  �$����)���� ���/��#$� 0" �-�(�#"  � ��/��(�", 0$'� +�-" ��('��# $�" �-�(�#"



'$!� ����&��/� 2.3. �/+'�� ����+� !  (�!'! ���" $�� ������'�+  �� $-� �3�

��5!*#(, *� �����3'�� �� ���� ���'$�3�  �� �� �3�  �� ��� ��  �$� ��$�'���

�+���" $�� �� $3�� ��� *� �����3'�� �� ���$#*�3� ����3. �/+'�� $� �0&�'$� ���*�"

#�'�$!�(-� ������'��3 ��� �(���$�� '#  �*# ����� ���" #5�'/��('#� +$� � 0�#&%�"

���" �#� #��)���3�#� $!�  � ��/��(�  �$- ��+ #��/�3 /��$(� '$� �( $��, $+$#

! %�!'�����(!'! ���/��#$� 2� ����-� ���" ��+ �� 0$� ��� �!&�(���� '$�� (���

������'�� �#� -/#�#( '# $(��$�. 	 '��*� ! &�� �� �#�$���&#( '-'$� � 0�#&%�"

���", %-�(" �� �#�2�#$�� ! ��+��'! $�� �� $3��, �#��&��/#$�� '$!� ����&��/� 1.4.

���*0$���#, &�� �����#�&��, +$� $� �0&�'$� ���*�" ��+ #�'�$���� ������'��3 #(���

1  �� +$� !  (�!'! '$� �( $�� #(��� #��/���. ��� �� �!� #��)���3�#� � 0�#&%�"

���" $!�  (�!'! $-� cell, *� ��0�#� �0%�� �� $#�#�2'#� ! �#$���'! #�+" cell �� 0%#�

�����)#� �� #��'$�0=#� $� #�'�$���� ��+ $�� #�+�#�� �#$�&-&0� &� ��$+ $� cell. ��

cell ��$+ 0 ��# '$�� #�+�#�� �#$�&-&0� cut through 1, �/�3 $� /��$(� $�� �� $3��

#(��� �� #$� #��/�3 2'$# �� $�� $� #��$�0�#�,  �� ��%�'# �� �#$��(�#$�� ��+ $��

#�+�#�� �#$�&-&0� ���� �� $#�#�2'#� ! �#$���'� $�� ��+ $�� ���+�$�.


����3�# �� ����$!��'���# +$� '# 0��� �#$�&-&0� �����3� �� 0$� �# $�� (���

������'�+, ��  �$����)����� $+'#" ���/��#$� 0" �-�(�#" +'#"  �� $� ���*�" $-�

'���0'�-� #�'+��� $�� �#$�&-&0�. ��� �� )�(' ��$�� '# ���/��#$� � ����� ���"

'$�� (��� �#$�&-&0�, �3� �� 0$� �# $�� (��� ������'�+, *� ��0�#� �� �����*�� ��+

���/��#$� �3" '���0'���" #�'+���. �$�� #�+�#�� �#$�&-&0� +�-" *� %�!'�������−

'��� $!� (��� ����� ���" (�-�(��). ��� �� #��$#�%*#( +�-" cut through '# #�(�#��

cell, ��$+ *� ��0�#� �� 0%#� �# $!� '#��� $�� ����, �� ���$#�#($�� ��+ #�� #/��(��

 �� '2��  �� ��� �� %-�(4#$�� �# $!� '#��� $��  �� ��$+ '# �� �+$#�� �0�!. �� �0�!

��$� �����'$! �� phits '$!� #�&�'(� [Dally 90]. �’ # #(�! $!� #�&�'(� �#� &(�#$��

�+&�" &�� cut through '# #�(�#�� flit  �� ��$� &��$( ! ��+*#'! ��� &(�#$�� #(��� +$� $�

�0&#*�" #�+" flit *#-�!$� � ����#( �� #(���  �� ('� �# $� �0&#*�" $�� phit. �# ��$��

$!� �#�(�$-'! ! �#$�/��� $-� flit �#$�53 �#$�&-&0-� &(�#$�� �# store−and−forward.

�$!� #�&�'(� ��" %�!'�������3�# cut−through  �� ��� %-�(4���#  �*# cell � flit '#

phits. �� phits  �$�$�''��$�� '# �3�  �$!&��(#":

� #�� #/��(��

� '2��

����%#� 0�� bit ��� ���%-�(4#� $� �3� #(�! phit  �� ! %�!'��+$!$� $��" #(��� +$�

#��$�0�#$�� ! 3���5! �#&��-� '# �0&#*�" cell/flit ��� �#� �����3� �� �#$���*�3� '#

0��  3 �� ����&��3.

1<$�� 0�� cell  ��#� cut−through '# 0��� �#$�&-&0�, ��$+ '!��(�#� +$� +$�� /$��#� $� cell ��$+
'$�� �#$�&-&0�, � '3��#'��" #5+��� ��� *0�#� �� %�!'�������'#� #($# #(��� �#�&�" � *� #(��� �#�&�"
�#$� ��+ �#�� �3"  3 ���". �+$# $� cell ����#( �� ��%('#� �� �#$��(�#$�� ���� /$�'#� +�� $� '2�� $��
'$�� �#$�&-&0�.
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	 '3& ��'! $-� �3� ��%�$# $��� 2� ATM  �� wormhole 0&��# �# ���'���(-'!.

����$3%*! �� ���$0�� ��� �#��&��/��� �# �#�$��0�#�� $!� �#�$���&(�  �*# �#−

$�&-&0�  �� %�!'������2�$�" $!� )�)���*� ! ���'$���5!" CSIM, �������*! �� ��

���'����-$0". ��� '$� �3� ���$0�� �(�#$�� 0�/�'! '$!� ��� $!" ��!��/��(�"

#�0&%�� �0'� '$�� �#$�&-&0�. �� #5��!�#$!$0", ��� /�(���$�� �#  3 ���" '$�

���$0�� ��� *� ��3�# '$!� '��0%#��, ���%#��(4��$�� $!� ��!��/��(� #�0&%��. <$��

0�� cell/flit #�'0�*#� '$�� �#$�&-&0�, *� ��0�#� �� )�#*#( ��+ ���� 05��� *� ��0�#�

�� )&#�  �� ��$� ! ��!��/��(� )�(' #$�� '$�� �(�� � ������+&!'!". ��$+��� *�

��0�#� �� �����'$-*#( �� � #�+�#��" �#$�&-&0�" ����#( �� �#%*#( $� cell/flit. ��$�

! ��!��/��(� )�(' #$�� '$��" �(�� #" $�� #�0&%�� ���". <$�� �����'$-*#( +$� !

�#$���'! $�� cell/flit ����#( �� &(�#�, $� cell/flit �#$��(�#$�� $� '��$��+$#�� ����$+.

�� �#���0�� ��� �#��0%��$�� '#  �*# cell/flit #�'0�%��$�� '$!�  #�$�� � ����! $��

�#$�&-&0� ! ���(� #(��� �
��� ������� ������ (pipeline memory). ��$� ! ����! #(���

'%#���'�0�! 2'$# �� ���0%#� �#&����" ��*��3" #5��!�0$!'!" &��  �*# #('��� $!"

[KaVE 95]. ���� $!��'$� + $!" #(��� +$� #��$�0�#� �� #�'0�%��$��  �� �� #50�%��$��

$��$+%���� �#��''+$#�� $�� #�+" cell (8 � 16) �# $�� �#�����'�+ +$� �#� �����3�

�� 5# ���'��� �� #�'0�%��$�� � �� #50�%��$�� $��$+%���� �#��''+$#�� $�� #�+".

�#��&��/���# '$!� '��0%#�� $� ���$0�� $-� �#$�&-&0-� ATM  �� wormhole  �−

*2"  �� $� ���$0�� ����&-&�3 (�!&�")  ��  �$����-$� (������'��3) &��  �*# �(�

�#�(�$-'!. �0��" �#��&��/���# $� ���+ ���$0�� $��  �$����-$�  �*2"  �� $!�

)�)���*� ! ���'$���5!".

3.1 �������,	 �(��
�(� �������
� ��


�# 0��� �#$�&-&0� ��� � 0�#&%�" ���" &(�#$�� �# $�� $�+�� ��� �#��&��=��# '$!�

����&��/� 2.3, 0�� cell �#� ����#( �� /3&#� ��+ 0��� �#$�&-&0� �� �#� ��!��3�$�� ��

���� �$- '��*� #":

21



� ����%#� %2��" '$!� ����! $�� #�+�#��� �#$�&-&0� ��� *0�#� *� �#$���*#( $�

cell, &�� �� $�  ��$�'#� '# �#�(�$-'! ��� ��$+ �#� ����#( ��$+ �� ���%-��'#�.

� �#� ����%��� ����� cell '$�� #�+�#�� �#$�&-&0� ��� �� 0%��� /3&#� ��+ $��

���+�$�  �� ��  �$#�*3���$�� '$�� (��� ������'�+.

	 ����$��!'! ��� ����#( �� &(�#� #(��� +$� �#� 0%#� �+!�� &�� �(� ���  � ��/��(�"

��  �$���)#� ����0" *0'#�" ����!" '# 0��� �#$�&-&0� &��$( ��$+ �#� ��+ #�$�� ��

#��$�%3�#� $�� ��*�+ �# $�� ���(� !  (�!'! ��$� /#3&#� ��+ $� �( $��. ��$� !

�����#$��"  �*��(4#$�� ��+ $!� ����$+$!$� $�� �������$! �� )&�4#� $!�  (�!'!

��+ $� �( $��. .#� %�#��4#$�� ����+� �� #��$�0����# '# 0�� �#$�&-&0� ��  ��$�

����� cells ���" $�� (��� ������'�+. ��$+ ����#( �� 0%#� ��'��#'$#" #���$2'#�"

'$!� �����$� +$!$� $�� �#$�&-&0�, &��$( �� ����%#�  �����" ������'�+" ���" '$��

���(� ����%#� �#&��!  (�!'!, ����#( +��" � ���*0'���" %2��" ���*� #�'!" $��

�#$�&-&0� ��  �$��!/*#( ��+ ��$�� $!�  (�!'!  �� �� ���� ���'$#(, �!� �/����$�"

 (�!'! ���  �$#�*3�#$�� ���" �����" ������'��3" �� ���%-��'#�.
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�%��� 3.1: 
��$0�� �#$�&-&0� ATM 2� 2

�� ���$0�� $�� ATM �#$�&-&0� /�(�#$�� '$� '%��� 3.1. ��  3��#" ���0" ����!"

��� /�(���$�� #(��� �� � +���*#":

� routeTbl: � �(�� �" ���  ��$�#� $�" �����($!$#" ��!��/��(#" &�� $!� ������+−

&!'!. >%#� �0&#*�" '$!� &#�� � �#�(�$-'!, +'�  �� $� ���*�" $-� ������'�2�

'$� �( $��  �� �#( $!" '# ��$+� $�� �(�� � #(��� ! ��#3*��'! ������'��3. ���

 �*# ������'�+, ����#� �3#� ����" #(��� � '3��#'��" #5+��� $�� �#$�&-&0�

��� ��!&#( ���" $� # #(.



� dstCrd: � �(�� �" ���  ��$� $� ���*�" $-� ���*0'��-� #�'�$!�(-� ���"  �*#

��*��+ ������'�+. �$!� &#�� � �#�(�$-'! 0%#� �0&#*�" +'�  �� $� ���*�" $-�

������'�2� '$� �( $��.

� poolCrd: 0�� '3���� �#$�!$2� ���  ��$� $� ���*�" $-� #�'�$!�(-� ���%2�!'!"

��� #(��� ���*0'��� ���" $��" #�+�#���" �#$�&-&#(". �� ���*�" $��" #(��� +'��

 �� �� '3��#'��� #5+��� $�� �#$�&-&0�.

� Hash Table: 0��" �(�� �" ���  ��$� �#��&��/#(" �� 0$-� ��� �#� �����3� ��

���%-��'��� '$�� #�+�#�� �#$�&-&0� &��$( �#� ����%#� ���*0'��� #�'�$����

������'��3. ��#��� *0����# ��  ��$�'���# $� �0&#*+" $�� �� �+, ��$( ��

0%���# �(� *0'! $�� �(�� � &��  �*# ������'�+, �#��''+$#��� $�� #�+" ����−

��'��3 ���/0���$�� '$!� (��� *0'!. >�� cell ��� �#� 0%#� #�'�$���� ������'��3,

�/��#� $�� �#��&��/0� $�� '# ��$+� $�� �(�� �, ��#5��$�$-" ��+ $� #�� ����%#�

#�'�$���� ���%2�!'!" &�� $�� #�+�#�� �#$�&-&0�  �� �#�  �$����2�#�  ��0��

#�'�$����.

� poolCrd Q x: ���0" ���  ��$��# �#��&��/#(" cell ��� �#� �����3� �� ���%-−

��'��� ���" $�� #�+�#�� �#$�&-&0� &��$( �#� ����%#� #�'�$���� ���%2�!'!"

���" $� # #(. ����%#� �(� &��  �*# '3��#'�� #5+���. >��" �#��&��/0�" &��

�� ��#� '# ��$�� $!� ���� ��0�#� ��2$� �� 0%#�  �$����2'#� 0�� #�'�$����

������'��3.

� readyQ x: ���0" ���  ��$��# �#��&��/#(" cells ��� 0%���  �$����2'#�  �� ��+

$� �3� #(�! #�'�$!�(-�,  �� ��� #(��� 0$���� �� ���-*!*�3� ���" $�� #�+�#��

�#$�&-&0�. ����%#� �(� $0$��� ���� &��  �*# '3��#'�� #5+���.

�$� ���$0�� #�+" ATM �#$�&-&0� 2 � 2 ��� /�(�#$�� '$� '%��� ����%��� 5

#5��!�#$!$0", �  �*0��" ��+ $��" ���(��" ������)��#� �#�$���&(#" ��� �����3�

�� &(���� �0'� '# 0��  3 �� ����&��3. �� �#�$���&(#"  �*# #5��!�#$!$� #(��� ��

� +���*#":

� Arbitration: � #5��!�#$!$�" ��$+" ������)��#� �� �#%*#( $� phits ��� /$�����

'$�" #�'+���" $�� �#$�&-&0�. ��0&%#� $� #(���" phit #(��� $� #�+�#�� ��� ����−

���)��#�, #�� #/��(�� (header) � '2�� (body). <$�� ���)�'#� �(� #�� #/��(��

��+  ����� #('���,  ��$�#�  ����� ��!��/��(� +$� ��+ ��$�� $!� #('��� ��0�#�

�� �#���0�#� 0�� ��+ �!�� cell ��� � ����*#(. ���  �*# #('��� ����%#� 0��"

�#$�!$�" ��� �#$��#� �+'� phits #�+" cell 0%��� �����!/*#(. ��#��� !  #�$�� �

����! $�� �#$�&-&0� #(��� $!" ���/�" �
���� ������ (pipeline memory), &�� ��

 ��$!*#( ! ���+$!$� ��� *0�#� 0�� $� ���3 cell �� #�'0�%#$�� '$!� ����! '#  �*#

 3 �� ����&��3, � #5��!�#$!$�" �#� �/��#� �3� #�� #/��(�#", ���#�%+�#�#"

��+ ���/��#$� 0" #�'+���", �� �#��'��� '$�� #5��!�#$!$� routeTbl access  �$�



$!� ���� #�� $�� (����  3 ���. � #5��!�#$!$�"Arbitration ��0�#� �� �#�$���&#(

'# �#&��! $�%3$!$� &��$( ��0�#� �� ����#( �� #5��!�#$�'#� +�#" $�" #�'+���"

$��$+%����1, �/�3 � �+��" �#�����'�+" #(��� -" ���" $�� ���*�+ $-� #�� #−

/��(�-� ��� �����3� �� #5��!�#$!*�3� '$�� (���  3 ��. �/+'�� ��+ +�#" $�"

#�'+���" 0�%��$�� phits '2��$� (body phits), ��$� ��0�#� �� ���-*�3�$�� +��

���" $�� Data Buffer.

� routeTbl access: � #5��!�#$!$�" ��$+" �0%#$�� '�� #('��� 0�� phit #�� #/��(��

����#��0%#� �(� ��#3*��'!������'��3. ��!'������2�$�" ��$�� $!� ��#3*��'!,

&(�#$�� ��+')�'! '$�� �(�� � .�����+&!'!" (Routing Table) &�� �� )�#*#(

��+ ���� 05��� *� )&#� $� cell $�� ���(�� ! #�� #/��(�� #(��� '$�� #5��!�#$!$�

routeTbl access. � #5��!�#$!$�" routeTbl access *� ��0�#� �� �2'#� '$��

#�+�#�� #5��!�#$!$� 0�� �#��&��/0� �� 0$��. � �#��&��/0�" ��$+" �#��0%#�

$�" � +���*#" ��!��/��(#":

−− .�#3*��'! ������'��3

−− �3��#'�� #5+��� (outgoing link)

−− �3��#'�� #�'+��� (incoming link)

� dstCrd/poolCrd access: � #5��!�#$!$�" ��$+" �0%#$�� '�� #('��� 0��� �#��&��−

/0� cell  �� ������)��#� +�#" $�" �#�$���&(#" ��� '%#$(4��$�� �# $�� >�#&%�


��" (Flow Control). ��0&%#� $�� �(�� � dstCrd '$!� *0'! ��� $�� ����#� �3#�

! ��#3*��'! ������'��3 ��� �#�����)��#$�� '$�� �#��&��/0�,  �*2"  �� $��

�#$�!$� poolCrd &�� $�� '3��#'�� #5+��� ��� �#�����)��#$�� '$�� �#��&��−

/0�, &�� �� �#� �� ����%#� #�'�$���� ���%2�!'!" (pool credit)  �� #�'�$����

������'��3. �����&� �# $!� 3���5! � �! #�'�$!�(-� �� �#�$���&(#" ��� ����#(

�� &(���� #(��� �� � +���*#":

−− ��  �� $� �3� #(�! #�'�$!�(-� #(��� ���*0'���, � �#��&��/0�" ���-*#($��

'$!� ���� readyQ x, +��� x � '3��#'��" #5+��� ��+ $�� ���(� *� /3&#� $�

cell. �# ��$�� $!� �#�(�$-'!  �$����2�#$�� 0�� #�'�$���� ��+  �*# #(��"

�!���� �#�2���$��  �$� 0��  �� � �#$�!$�" poolCrd  �� ! $��� $�� �(�� �

dstCrd.

−− �� �#� ����%#� #�'�$���� ������'��3, $+$# � �#��&��/0�" ���-*#($�� '$�

Hash Table  �� *� �#���0�#� # #( �0%�� �� /$�'#� '$�� �#$�&-&0�  �����

#�'�$���� &�� $�� ������'�+ $��. 	 �#�(�$-'! ��$� #(��� ���3 ��*��+

�� '��)#( �� ����%#� �#&��!  � ��/��(� ���"  ������ ������'�+  ��

1�$!� #��� � �#�(�$-'! ��� $� �0&#*�" ('# phits) $�� cell #(��� �� �+$#�� ��+ $� ���*�" $-�
#�'+�-� $�� �#$�&-&0�, �� #( � #5��!�#$!$�" Arbitration �� #(��� �� #$� &��&���" 2'$# �� ����#(
�� #5��!�#$�'#� $+'#" #�'+���" +'� $� �0&#*�" $�� cell.



 �$����2���$�� $�%3$#�� $� #�'�$���� ������'��3 ��’ +$� $� #�'�$����

���%2�!'!". � +��  �� �� ����%#� #�'�$���� ���%2�!'!", ��$+ �#�

 �$����2�#$�� &�� �� ���/#�%*�3� �������� (deadlocks).

−− �� ����%#� #�'�$���� ������'��3 ���� �#� ����%#� #�'�$���� ���%2�!'!",

� �#��&��/0�" &��/#$�� '$� $0��" $!" ����" poolCrd Q x, +��� x � '3�−

�#'��" #5+��� ��+ $�� ���(� *0�#� �� �#$���*#( $� �� 0$�. 	 �#�(�$-'!

��$� #(��� ��*��+ �� '��)#( �� ����� cell �# ���/��#$� �3" ������'��3",

���'��*�'��� �� )&��� ��+ $�� (��� '3��#'�� #5+���.

� Credit Collection: � #5��!�#$!$�" ��$+" �0%#$�� '�� #('��� 0�� #�'�$����  ��

������)��#� $�" �#�$���&(#" ��� ��0�#� �� &(���� +$�� /$��#� 0�� #�'�$����

'$�� �#$�&-&0�. �� #�'�$���� �#$�/0�#� $!� ��#3*��'! ������'��3 &�� $!�

���(� ����%#� #�#3*#��" %2��" '$�� #�+�#�� �#$�&-&0�. �'$- +$� ��$� !

��#3*��'! #(��� ! .. ��0&%#$��  �$’ ��%�� �� ����%#� cell ��� �#���0�#� '$�

Hash Table  �� �!&�(�#� '$� .. �� ����%#�, � �#��&��/0�" /#3&#� ��+ $�

Hash Table  �� ���'$(*#$�� '$� $0��" $!" ����" poolCrd Q x, +��� x #(��� �

'3��#'��" #5+��� ��+ $�� ���(� ��0�#� �� /3&#� $� cell  ��  �$����2�#� $�

#�'�$���� ������'��3. �� �#� ����%#� cell ��� �� �#���0�#� '$�Hash Table, $+$#

��5��#$��  �$� 0�� $� ���*�" $-� #�'�$!�(-� ���" $�� . '$�� �(�� � dstCrd.

��$+��� #�0&%#$�� ! ���� poolCrd Q x &�� $�� '3��#'�� #5+��� ��� �+��"

0��)# $� #�'�$����. �� ����%#� �#��&��/0�" ��� �� �#���0�#� '$!�  #/��� $!",

��$+" /#3&#� ��+ $!� ����  �� ���'$(*#$�� '$� $0��" $!" ����" readyQ x, +���

x � '3��#'��" #5+��� $�� cell,  �$����2���$�"  �� $� #�'�$���� ���%2�!'!".

�� cell ��$+ #(��� 0$���� �� /3&#� ��+ $�� �#$�&-&0�, �/�3 0%#� #5�'/���'$#(

+$� ����%#� #�#3*#��" %2��" &� ��$+ '$�� #�+�#�� �#$�&-&0�. �� !  #/��� $!"

����" poolCrd Q x #(���  #��, ��5����$��  �$� 0�� $� #�'�$���� ���%2�!'!"

&�� $�� #�+�#�� �#$�&-&0�.

� Packet Transmission: � #5��!�#$!$�" ��$+" �0%#$�� '�� #('��� 0��� �#��&��/0�

cell  �*2"  �� $� �#���0�� $�� cell ��+ $�� Data buffer,  �� ������)��#� ��

�#$��2'#� $� cell ��$+ '$�� #�+�#�� �#$�&-&0�. �#  �*#  3 �� #5��!�#$#( +���"

$��" '���0'���" #5+���, #/+'�� ����%��� 0$���� cell ��� *0���� �� /3&���.

��� #�2 +�-"  �� '$!� #('���, ����%#� � �#�����'�+" +$� �+�� 0�� cell ����#(

�� 5# ���'#� �� �#$��(�#$�� '$!� ���� #�� #�+"  3 ���. ��$� ��(4#$�� ��+

$�" ������&��/0" $!" Pipeline Memory ��� #(��� $� ���$0��  #�$�� �" ����!"

��� ���*0'��#. � #5��!�#$!$�" ��$�", +$�� 0��" '3��#'��" #5+��� #(��� �

��#� �� &(�#� ������ (idle), ���)�4#� $!�  #/��� $!" ����" readyQ x ��� $��

��$�'$��%#(  �� #/+'�� �#� #(���  #�� )&�4#� ��+ $!� ���� $�� �#��&��/0� ���

#(��� '$!�  #/���  �� ��%(4#� �� /0��#�  �� $� �#���0�� ��+ $!� ����!. 
+��"



5# ���'#� �� # �0��#$�� $� cell, 0�� #�'�$���� �!�����&#($��  �� #��'$�0/#�,

'$�� �#$�&-&0� ��+ $�� ���(� 0/$�'# $� cell ��� �#$��(�#$��. �!� ��!��/��(�

��+ ��� ��*# $� cell, $!�  ��$��# '$�� �#��&��/0� $��. �� ����%#� cell $� ���(�

#(%# ��%('#� �� �#$��(�#$�� ��+  ������ '3��#'�� #5+��� '# ���!&�3�#��

 3 ��  �� �#� 0%#� $#�#�2'#� � +�� ! �#$���'� $��, � #5��!�#$!$�" Packet

Transmission �#$��(�#� $� #�+�#�� phit ��$�3 $�� cell.

3.2 �������,	 �(��
�(� �������
� Wormhole
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�%��� 3.2: 
��$0�� �#$�&-&0� wormhole 2� 2

�� ���$0�� #�+" �#$�&-&0� wormhole /�(�#$�� '$� '%��� 3.2. �� ���$0�� 0%#� 6

#5��!�#$!$0", �  �*# 0��" ��+ $��" ���(��" ������)��#� �#�$���&(#" ��� �����3� ��

&(���� �0'� '# 0��  3 �� ����&��3. �� ���0" ����!" ��� �#�����)����$�� '# ��$+

$� '%��� #(��� �� � +���*#":

� routeTbl: � �(�� �" ���  ��$�#� $�" ��!��/��(#" ��� #(��� �����($!$#" &�� ��

&(�#� ! ������+&!'!. >%#� �0&#*�" '$!� &#�� � �#�(�$-'!, +'�  �� $� ���*�"

$-� ������'�2� '$� �( $��. .#( $!" '# ��$+� $�� �(�� � #(��� ! ��#3*��'!

������'��3. ���  �*# ������'�+, ����#� �3#� ����" #(��� � '3��#'��" #5+���

$�� �#$�&-&0� ��� ��!&#( ���" $� # #(.

� laneQ x: ���0" '$�" ���(#" �����0���� �� �#��&��/#(" $-� �� 0$-� ��� �#�

�����3� �� ���%-��'��� &��$( �#� ����%#� ���*0'��! �-�(��. ����%#� �(� ����

&��  �*# '3��#'�� #�'+���. �# ��$0" $�" ���0" ���(���� #�� #/��(�#" �� 0$-�,



�/�3 ���� �(� #�� #/��(�� 0%#� ��*��+$!$� �� �!� ����#( �� )�#� �-�(��, �0'�

'$!� ���(� ��  ��!*#(, �/�3 �+�� ��$� ����#( �� 4!$�'#�  ����3��� �-�(��.

� pktStatus: �(�� �" ���  ��$�#� ��!��/��(#" '%#$� 0" �# $� �� 0$� ��� *0����

�� �#��'��� �0'� ��+ $�� �#$�&-&0�. �(��� 0��" �����'$�$�" �(�� �" +���

�#( $!" '$!� �(� ���'$�'� $�� #(��� � '3��#'��" #�'+��� ��+ $�� ���(� 0�%#$��

$� �� 0$�  �� '$!� �#3$#�! ���'$�'! #(��� ! �-�(�� �0'� '$!� ���(�  ��#($��

$� �� 0$�. �#  �*# *0'! $�� �(�� � �#��0%��$�� �3� ��!��/��(#":

−− � '3��#'��" ��+ $�� ���(� ��0�#� �� )&��� $� flits $�� �� 0$��.

−− � ���*�+" $!" �-�(��" ��� *� %�!'�������'��� $� flits $�� �� 0$�� '$��

#�+�#�� �#$�&-&0�.

�� �0&#*+" $�� #(��� $� &��+�#�� $�� ���*��" $-� #�'+�-� $�� �#$�&-&0� #�(

$� ���*�" $-� �-�(�-� $��.

� crdStatus: � �(�� �" ���  ��$�#� $!� ��!��/��(� &�� $� �+'� #�'�$���� 0%#�

���*0'��� �(� �-�(��. .#( $!" '# ��$+� $�� �(�� � #(��� ! �-�(�� &�� $!� ���(�

*0����# �� )��3�# $� ���*0'��� #�'�$����. �� �0&#*+" $�� #(��� +'� $� ���*�"

$-� �-�(�-� $�� �#$�&-&0�.

� crdQ Tbl x: �(�� #" �0'� '$��" ���(��" #(��� ��&��-�0�#" ���0", �(� &��  �*#

�-�(��, '$�" ���(#" ���(���� flits $� ���(� 0%��� �#� �-�(�� &�� $�� #�+�#��

�#$�&-&0�, ���� �#� 0%��� #�'�$���� &� ��$+�. ����%#� 0��" &��  �*# '3��#'��

#5+���.

� readyQ x: ���0" ���  ��$��# �#��&��/#(" flits ��� 0%���  �$����2'#� 0��

#�'�$����,  �� ��� #(��� 0$���� �� ���-*!*�3� ���" $�� #�+�#�� �#$�&-&0�.

����%#� �(� $0$��� ���� &��  �*# '3��#'�� #5+���.

� inputQ: 	 ���� ��$� #(��� ��� ����! ��&��-�0�! '# ���/� �(�� � ���2�.

����%#� �(� ���� &��  �*# �-�(��  �� $� �0&#*�"  �*# ����" #(��� +'� $�

���*�" $-� #�'�$!�(-� &�� �(� �-�(��. 	 ���& ! �!�����&(�" ��$�" $!" ����"

�#��&��/#$�� ���� �$-. �/+'�� �(� #�� #/��(�� ��� /$�'#� '$�� �#$�&-&0�,

�#� ����#( �� )�#� �-�(�� &�� �� ���-*!*#( '$�� #�+�#�� �#$�&-&0�, �#�

��0�#� $� flit ��� � ����*�3� $!� #�� #/��(�� �� /$�'��� '$�� #5��!�#$!$�

routeTbl access &��$( �#� ����%#� 0& ��! �#��&��/� '$�� �(�� � pktStatus ���

�� �#��&��/#� ����" #(��� � '3��#'��" #5+��� ��+ $�� ���(� ��0�#� �� )&#(

$� flit  �� ����" � ���*�+" $!" �-�(��" ��� *� 0%#� '$�� #�+�#�� �#$�&-&0�

��� *� ��0�#� �� ��#�. 	 �#��&��/� ��$� *� /$��%$#( +$�� &(�#� ����$+ &��

$!� #�� #/��(�� �� )�#� �-�(�� &�� �� ���%-��'#�. Y�� *� ��0�#� �� ����%#�

 �$� ��� �� #����(4#� 0�� flit #�+" �� 0$�� '$� ���(� �#� 0%#� � +�� ���$#*#(



�-�(��, �� ���%-��'#�  �� ��$+ ����#( �� #(��� ! #�� #/��(�� ! (��� ! ���(�

���� ��#� $!� �-�(�� ���  �$0%#� $� �� 0$�. ��*# flit #&&��/#$�� '$� $0��"

$!" ����" ��� ����%#� &�� $!� �-�(�� �0'� '$!� ���(�  ��#($��. ��#���  �*#

�-�(�� 0%#� 5#%-��'$� ����, �#� ����$!�#($�� $� /���+�#��, �� #����(4#�

�(� ���� ���'�0�! �-�(�� ���#" �-�(�#" �� ���-*�'��� $� �#���0�� $��"

 ����� �.

�$� '%��� ����$!��3�# 6 #5��!�#$!$0", $-� ���(-� �� �#�$���&(#" �#��&��/��$��

���� �$-:

� Arbitration: � #5��!�#$!$�" ��$+" ������)��#� �� #���05#� ���� #(��� ! #�+�#�!

#('���" ��� *� #5��!�#$!*#(. <�-"  �� '$� ���$0�� ATM, $� ���$0�� ����!"

��� ���*0$���# +$� 0%#� � �#$�&-&0�", #(��� ����! ����%�" �&-&�3. ����%#�

��� � �#�����'�+" $�� +$� �#� �����3� �� 5# ���3� �� #�'0�%��$�� '$!� ����!

�#��''+$#�� ��+ 0�� flit '#  �*#  3 �� ����&��3. �/+'�� ��+ �(� #('���

��%('#� �� &(�#$�� �# $+ 0�� flit, *� #5��!�#$#($�� ��$� ! #('���" '#  �*#

#�+�#��  3 ��, �0%�� �� /$�'#�  �� �� �����!/*#( +�� $� flit. <$�� $�

flit ��%(4#� �� /$��#�, �!�����&#($�� 0��" �#��&��/0�" $�� �� 0$��, � ���(�"

$���*#$#($�� '$!� ���� inputQ  �� +$�� ��%('#� $� '2�� $�� �� 0$�� �� /$��#�,

��$+ $���*#$#($�� '$!� ����!.

� routeTbl access: � #5��!�#$!$�" ��$+" ������)��#� ��  ��#� $!� ��+')�'!

'$�� �(�� � ������+&!'!"  �� �� )�#� ��+ ����� '3��#'�� #5+��� ��0�#�

�� )&#� $� flit ��� )�(' #$�� '$!�  #/��� $!" ����" ��� #5#$�4#�, #/+'��

��$+ #(��� #�� #/��(��. �/�3 )�#*#( ����" #(��� � '3��#'��" #5+��� $��

�� 0$��, � �#��&��/0�" #�����$(4#$�� �# ��$�� $!� ��!��/��(�  �� �#���#�

'$�� #5��!�#$!$� findLane. �� ���0" $�� inputQ #5#$�4��$��  � �� � (round

robin)  �� #/+'�� �(� ���� #(���  #�� �����#(�#$��. �� '$!�  #/��� $!" ����"

)�(' #$�� flit ��� �#� #(��� #�� #/��(�� �� 0$��, ��$+ ���-*#($�� ���" $��

#�+�#�� #5��!�#$!$� %-�(" �� &(�#$�� ��+')�'! '$�� �(�� � ������+&!'!".

� findLane: � #5��!�#$!$�" ��$+" ������)��#� �� %#���'$#( +�#" $�" ��!��/��(#"

'%#$� � �# $� �� 0$�. >%#� '�� #('��� 0�� �#��&��/0� flit  �� ' ��+" $�� #(���

�� $�� #�����$('#� �# $!� ��!��/��(� $!" �-�(��" �  �� $�� '���0'��� #5+���

��� $� flit *� %�!'�������'#� &�� $�� #�+�#�� �#$�&-&0�.

−− <$�� � �#��&��/0�" ��$�'$��%#( '# flit−#�� #/��(�� $+$# *� ��0�#� �� )�#�

#�#3*#�! �-�(�� �� ���*0'#� '$�  ����3��� �� 0$�. �/+'�� $�  �$�−

/0�#� ��$+, ����%#� �!���� #�#3*#�! �-�(�� '$�� #�+�#�� �#$�&-&0�,

! ��!��/��(� ��$� ���'$(*#$�� '$�� �#��&��/0�  �� ��$+" ���%-��#�

'$�� #�+�#�� #5��!�#$!$�. ���$+%���� &��/#$�� '$�� �(�� � pktStatus !



��!��/��(� &�� $!� �-�(�� ��� ���$0*! # '$� �0� �� 0$�. �� �#� )�#*#(

#�#3*#�! �-�(��, $� �� 0$� ��0�#� �� ���� ���'$#(  �� � �#��&��/0�"

$�� &��/#$�� '$� $0��" $!" ����" laneQ x, +��� x � '3��#'��" #5+���

��+ $�� ���(� ��0�#� �� )&#� $� �� 0$�. 	 ��!��/��(� ��$� ����%#�

'$�� �#��&��/0� $�� flit−#�� #/��(�� &��$( 0%#� )�#*#( '$�� ���!&�3�#��

 3 �� �#$� $!� ��+')�'! '$�� �(�� � ������+&!'!".

−− <$�� � �#��&��/0�" ��$�'$��%#( '# flit−'2��, $+$# �#� �#��0%#� $!� ��!−

��/��(� $�� ����" #(��� � '3��#'��" #5+��� ��+ $�� ���(� *� )&#� $�

flit  �� ��$�� $!� ��!��/��(� *� $!� ��� $�'#� � #5��!�#$!$�" findLane.

|0���$�" $�� '3��#'�� #�'+���  �� $!� �-�(�� ��� $� �� 0$� %�!'���−

���#( '$�� ���+�$� �#$�&-&0�, &(�#$�� ��+')�'! '$�� �(�� � pktStatus

 �� )�(' #$�� � '3��#'��" #5+���  �� ! �-�(�� ��� *� %�!'�������'#�

$� flit '$�� #�+�#�� �#$�&-&0�. ��$0" �� ��!��/��(#" ���'$(*#�$�� '$��

�#��&��/0�  �� ���%-��#� '$�� #�+�#�� #5��!�#$!$�.

−− <$�� � �#��&��/0�" #(��� &�� $#�� + flit $+$# *� ��0�#� ! �-�(�� ���

#(%# ���$#*#( '$� �� 0$� �� ��� ���'$#( -" #�#3*#�! &�� �� ����#(

�� %�!'������!*#( ��+ $� #�+�#�� flit ��� *� *#��'��� �� �#��'���

��+ $�� �#$�&-&0�. <�-"  �� '$!� �#�(�$-'! $�� flit−'2��$�", &(�#$��

 �� ���� ��+')�'! '$�� �(�� � pktStatus &�� �� )�#*#( '3��#'��"  ��

�-�(�� #5+��� $�� flit. ���$+%���� ! #('���" ��$� ')3�#$�� ��+ $��

�(�� �  �� ���%�#3#$�� ! ���� laneQ x, +��� x #(��� � '3��#'��" #5+���

��� *� %�!'�������'#� $� $#�� + flit. �� ����%#�  �����" �#��&��/0�"

��� �#���0�#� '$!�  #/��� ��$�" $!" ����", )&�(�#� ��+ ��$��  �� $��

���$(*#$�� ! �-�(�� ��� �+��" #�#�*#�2*! #. .(�#$�� � +�� 0�� '��� '$��

#5��!�#$!$� 2 ��� $�� #������#( �� �#(�#� �#�&�"(idle)  �$� $�� #�+�#��

 3 ��  �� �� �!� ���)�'#� $!� #�+�#�! ���� $�� inputQ &��$( $� #�+�#��

flit ��� *� ��0�#� �� #5��!�#$!*#( #(��� ��$+ $�� ���(�� � �#��&��/0�"

�+��" )&� # ��+ $!� laneQ x. �$����4#$��  �� ! 05���" $�� #5��!�#$!$�

��� #(��� � �#��&��/0�" $�� $#�� �3 flit #�����$�'�0��" �# $�" ��!��/��(#"

&�� $!� �-�(��  �� '3��#'�� #5+���  �*2"  �� ! #('��+" $��, ��� *� #(��� �

�#��&��/0�" $�� flit−#�� #/��(��" +�-" $�� #(%# #$����'#� � #5��!�#$!$�"

2 ���� ��#� '$!� laneQ x ����.

� crdStatus access: � #5��!�#$!$�" ��$+" ������)��#� $�" �#�$���&(#" ��� '%#$(−

4��$�� �# $�� 0�#&%� ���" '$�� �#$�&-&0�. ��� #('��� 0%#� 0��� �#��&��/0�

��� �#��0%#� '3��#'��  �� �-�(�� #5+���. 
# ��$0" $�" ��!��/��(#", &(�#$��

��+')�'! '$�� �(�� � crdStatus &�� �� )�#*#( �� ����%��� ���*0'��� #�'�$����

&�� $!� �-�(�� ��$�3 $�� '���0'��� #5+���. �� ����%���, $+$# � �#��&��−

/0�" &��/#$�� '$� $0��" $!� ����" readyQ x, +��� x � '3��#'��" #5+���,  ��



 �$����2�#$�� 0�� ��$('$��%� #�'�$����. �� �#� ����%��� #�'�$����, $+$# �

�#��&��/0�" &��/#$�� '$!� crdQ Tbl x, +��� x � '3��#'��" #5+��� ��+ $��

���(� ��0�#� �� )&#� $� flit. 
#$�, � �#��&��/0�" $���*#$#($�� '$!� ���� ���

��$�'$��%#( '$!� �-�(�� ��� *�  ��!*#( $� flit '$�� #�+�#�� �#$�&-&0�.

� Credit Collection: � #5��!�#$!$�" ��$+" ������)��#� $�" �#�$���&(#" ��� ��0�#�

�� &(����, +$�� 0�� #�'�$���� /$�'#� '$�� �#$�&-&0�. >%#� '�� #('��+ $�� 0��

#�'�$���� $� ���(� �#��0%#� $!� �-�(�� &�� $!� ���(� ����%#� �(� #�#3*#�!

*0'! '$�� #�+�#�� �#$�&-&0�. ��('!" ���%�#3#$�� ! ���� ��� ��$�'$��%#(

'# ��$�� $!� �-�(�� '$�� crdQ Tbl x, +��� x � '3��#'��" #5+��� $�� ���(�

�/��� $� #�'�$���� ��� �+��" ��*#. �/+'�� �#� #(��� ��#��, � �#��&��/0�" ���

#(��� '$!�  ���/�, )&�(�#� ��+ $!� ����  �� $���*#$#($�� '$� $0��" $!" ����"

readyQ x. �� ! ���� #(���  #��,  ��0�� flit �#� �#���0�#� ��$+ $� #�'�$����,

��+$# ��5��#$�� $� ���*�" $-� #�'�$!�(-� '$�� �(�� � crdStatus &�� $!� �-�(��

$�� '���0'��� #5+��� ��’ +��� ��*# $� #�'�$����.

� Flit Transmission: � #5��!�#$!$�" ��$+" ������)��#� $�" �#�$���&(#" ��� ��0�#�

�� &(���� +$�� 0�� flit ��0�#� �� �#$���*#(. ��� #('��� 0%#� 0��� �#��&��/0�

��� )�(' #$�� '$!�  #/��� $!" ����" readyQ x &�� +���" $��" '���0'���"

#5+���. � �#�����'�+" ��� �'%3#�  �� #�2 #(��� +$� �#� �����3� �#��''+$#��

$�� #�+" flit �� ��%('��� �� �#$��(���$�� $��$+%���� ��+ ���/��#$� 0" #5+���"

�+&- $�� �#�����'��3 $!" ����!" ����%�" �&-&�3 $�� �#$�&-&0�. �/+'��

! ���� readyQ x #�+" '���0'��� #5+��� �#� #(��� ��#��, � '3��#'��" #(���

� *� #(��� '3�$��� �#�&�" (idle)  �� �#� 0%#� ��! 5# ���'#� �� �#$��(�#$��

���� flit  �$� $!� ���� #�� $�� ��(��  3 ���, ��� ��#($�� ��+ $!� ����! $�

�#��#%+�#�� $�� flit $�� ���(�� � �#��&��/0�" )�(' #$�� '$!�  #/��� $!"

����". E$����4#$�� ! #�� #/��(�� ��� *� ���!&!*#( $�� '2��$�", &�� ��

�#$���*#(  �� $� ��$('$��%� #�'�$���� '$�� �#$�&-&0� ��+ $�� ���(� �����*#

$� flit. �$� #�'�$���� �#��0%#$��  �� ! �-�(�� ��� $� flit %�!'�����(!'#

'$�� ���+�$� �#$�&-&0� &��$( � �(�� �" $-� #�'�$!�(-� ��� ����%#� &��  �*#

'3��#'�� #5+��� #�+" �#$�&-&0�, 0%#� '�� �#( $! $�� ���*�+ $!" �-�(��"

��� $� flit *� %�!'�������'#� '$�� #�+�#�� �#$�&-&0�. ��$� ! ��!��/��(�

����%#� '$�� �#��&��/0� $�� flit ��� #(��� '$!�  #/��� $!" ����" readyQ x.

�� ����%#� flit $� ���(� #(%# ��%('#� �� �#$��(�#$�� ��+  ������ '3��#'��

#5+��� '# ���!&�3�#��  3 ��  �� �#� 0%#� $#�#�2'#� � +�� ! �#$���'� $��, �

#5��!�#$!$�" Flit Transmission �#$��(�#� $� #�+�#�� phit ��$�3 $�� flit.



3.3 �������,	 �(��
�(� �������(� ��� ������ ��


crdIn

cellOut

dstCrd_Tbl poolCrd_cnt

1 2

4

3

readyQ

�%��� 3.3: 
��$0�� ����&-&�3 &�� $!� �#�(�$-'! $�� ATM

�$�" #�'+���" $�� �� $3�� ����%��� �!%���'��( ��� #�0&%��� $!�  (�!'! ��� �#���#�

�0'� '# ��$+  �� ��� �3���  �� ��$�( '$��"  ��+�#" ��� #��)���#� � 0�#&%�"

���"(flow control). ��$+ '��)�(�#� &�� �� �!� ���(�#� '$�� ��2$� �#$�&-&0� $��

�� $3��  (�!'! �# ���/��#$� 0" ���+$!$#" ��+ ��$�� ��� ���(�#� '$��" �#$0�#�$�

�#$�&-&#(". �� ���$0�� /�(�#$�� '$� '%��� 3.3. ��%� � ����&#$�� 0�� �� 0$�  ��

#���0&#$�� ����" #(��� � ������'�+" $��  �� $� �� �" $��. �����&� �# $� ���$0��

 (�!'!" � ������'�+" ����#( �� #���#&#( ����+���/� � �� ����%#�  ����� ���$(�!'!

���"  ������ !  ������" ������'��3" (hot spot traffic). ��  ����3�&�� �� 0$� ���(�#�

'$!� ���� ��� ���'����(4#$�� ��+ $�� ������'�+ $��. 
(� ���� #���0&#$�� &�� ��

#5��!�#$!*#( �#  ��$���� $�� %�+�� �/�5!" $�� �� 0$�� ��� )�(' #$�� '$!�  ���/�

$!". � #5��!�#$!$�" 1 #�0&%#� �� ����%#� #�'�$���� ������'��3 &�� $� �� 0$�  ��

#/+'�� ����%#�, $� �� 0$� )&�(�#� ��+ $!� ��%� � ����,  #���$(4#$�� '# cells,  ��

���(�#� '# 0��� ���'-���+ %2�� ���*� #�'!". ����%#� 0��" $0$���" %2��" &��  �*#

������'�+. ��+ # #( *� /3&#�  �*# cell �# $!� '#��� $��. �� %2��� ���*� #�'!"

#5��!�#$�3�$�� ��+ $�� #5��!�#$!$� 2  � �� � (round robin). � #5��!�#$!$�"

��$+" #�0&%#� $�� �#$�!$� ��� �#(%�#� �+'� #�'�$���� #(��� ���*0'���  �� #/+'�� �

�#$�!$�" �#� #(��� �!�#�� +", 0�� cell �#���#� ��+ $�� ���'-���+ %2�� ���*� #�'!",

'$!� ���� $-� 0$���-� &�� ���%2�!'! cell  �� � �#$�!$�" �#�2�#$��. ��+ # #( $�

cells ���-*�3�$�� '$� �( $�� ��+ $�� #5��!�#$!$� 3, � ���(�" '$0��#� $� #�+�#��

cell '$�� ��2$� �#$�&-&0�. ����%#� � +��  �� � #5��!�#$!$�" 4 � ���(�" �0%#$�� $�

#�'�$���� ��� #��'$�0/��� ��+ $�� ��2$� �#$�&-&0�,  �� #�!�#�2�#� $�� �(�� � $-�

#�'�$!�(-� ������'��3  �*2"  �� $�� �#$�!$� $-� #�'�$!�(-� ���%2�!'!". ��� $��"

' ���3" $!" ���'���(-'!", �#� ���)��#$�� ��’ +=! � %����'�+" '# ��$+ $� ���$0��

 �� � )�'� +$#��" �+&�" #(��� +$� ! �!&� ���%�#�3$�� �� '$0��#� %-�(" ��� ��0". ���

�� 0%���# %�!'�����(!'! $-� '���0'�-� #5+��� 100% %�#��'$! # !  �*�'$0�!'!

 �*# #5��!�#$!$� '$�� �!%���'�+ $�� ����&-&�3 (�!&�") �� #(��� �!�#�� �. 	



�+�!  �*�'$0�!'! ��� �#� ��0�#� �� #(��� �!�#�� �, #(��� !  �*�'$0�!'! $��

#5��!�#$!$� 3 &��$( ��0�#�  �*# cell �� �#$��(�#$�� '# �! �!�#�� + %�+��, 2'$# ��

�(�#$�� � %�+��" '$�� ��2$� �#$�&-&0� �� $� ������/�'#�.

3.4 �������,	 �(��
�(� �������(� ��� ������ Wormhole

crdIn
4

cellOut
1 2 3

readyQ

crdTbl
waitLaneQ

�%��� 3.4: 
��$0�� ����&-&�3 '$!� �#�(�$-'! $�� wormhole

��� '$!� �#�(�$-'! $�� wormhole ! �!&�  (�!'!" ��0�#� �� ��� �3#� '$��"  ��+�#"

��� #��)���#� � 0�#&%�" ���". ����%#� ����+�  �� #�2 0��" �!%���'�+" ���

���/����#( $!�  (�!'! ��� ���(�#� �0'� '$� �( $��, 2'$# �� ����4#� �# $!�  (�!'!

��� *� 0)&���# ��+ 0��� �#$�&-&0�. <�-"  �� '$!� �#�(�$-'! ATM, ����&#$�� 0��

�� 0$�  �� #���0&#$�� $� �� �"  �� � ������'�+" $�� �����&� �# $!� ���/� $!"

 (�!'!" ��� *0����# �� ���'����2'���#. �� ���$0�� /�(�#$�� '$� '%��� 3.4.

�� �� 0$� ��$+ ���(�#� ��%� � '# �(� ���� �����&� �# $�� ������'�+ $��. ��$+

�#� #(��� �����($!$� &�� $� ���$0�� wormhole, ���� &�� �� �!� #��$�0�#$�� ��

�#$��(���$�� $��$+%���� �3� �� 0$� ��+ $!� (��� �!&� ���" $�� (��� ������'�+,

$0$��� �� 0$� ���(���� '# �(� ���� '$!� #('���  �� �#���0�#� $� 0�� �0%�� ��

$#�#�2'#� $� ����. ��$+ 0&��# &�� �� ����4#� �#��''+$#�� ! ���/� $!"  (�!'!" ���

���(�#� �0'� '# 0�� �( $�� ATM, �# ��$�� ��� ���(�#� '# 0�� �( $�� wormhole. ��+

��$0" $�" ���0", � #5��!�#$!$�" 1 ��(��#� $� �� 0$�  �� #/+'�� ����%#� #�#3*#�!

�-�(��  �� �#� �#$��(�#$�� $��$+%���� ���� �� 0$� ���" $�� (��� ������'�+, $�

%-�(4#� '# �� �+$#�� $����$� (flit). �� �#� ����%#� #�#3*#�! �-�(��, $� �� 0$�

���(�#� '$� $0��" $!" ����" $-� �� 0$-� ��� �#���0���� �� )���� #�#3*#�! �-�(��.

<$�� 0�� ��+ $� �� 0$� ��� $��" 0%#� �o*#( �-�(��, ��� �!�2'#� $!� �#$���'� $��,

$� �� 0$� ��� )�(' #$�� '$!�  #/��� ��$�" $!" ����", ��(��#� $!� �-�(�� ��� �+��"

#�#�*#�2*! #  �� '��#%(4#� $!� ���#(� $�� ���" $� �( $��. �� �� 0$� ��+ $�" ���0"

'$!� #('��� #5��!�#$�3�$�� �# $!� '#��� �# $!� ���(� ��� �� �0'� '#  ����� ��+

��$0", �!���� FCFS. �� �� 0$�, '# ���/� � ����*(�" flits, $���*#$#($�� '# 0���



���'-���+ %2�� ���*� #�'!". ����%#� 0��" $0$���" %2��" ���*� #�'!" &��  �*#

�-�(�� (lane).

��+ $��" %2���" ���*� #�'!" � #5��!�#$!$�" 2 ��(��#� flits �#  � �� � '#���

 �� $� �#���#� '$!� ���� $-� 0$���-� ���" ���%2�!'! flit, #/+'�� � �#$�!$�" $-�

#�'�$!�(-� &�� $�� ��2$� �#$�&-&0� �#� #(��� �!�#�� +"  �� ��� ����%��� ���*0'���

#�'�$����. ��+ $!� ���� $-� 0$���-� &�� ���%2�!'! flit, � #5��!�#$!$�" 3 ��(��#�

$� flit ��� #(��� '$!�  #/��� $!"  �� $� �#$��(�#� '$�� ��2$� �#$�&-&0�. ����%#�

� +��  �� � #5��!�#$!$�" 4, � ���(�" #(��� #��/��$�'�0��" �# $� 0�&� �� ��4#3#� $�

#�'�$���� ��� &��(4��� '$!� �!&�  �� �� #�!�#�2�#� $�� �#$�!$� ��� �0#� �+'� #(���

���*0'��� ��� ��'� '$�&��. <�-"  �� '$!� �#�(�$-'! $�� ATM, ��  �*�'$#��'#�"

+�-� $-� #5��!�#$!$2� ��!� $�� 3 #(��� �!�#�� 0". 	  �*�'$0�!'! $�� #5��!�0$! 3

#(��� �! �!�#�� � &��$( %�#��4#$��  ����� %�+�� �! �!�#�� +, � ��2$�" �#$�&-&0�",

&�� �� ������/�'#� $� flit �0'� '$� �( $�� (�����&� �# $� ATM ���$0��).

3.5 �������,	 �(��
�(� ���������	

�  �$����-$�", )&�4#� ��+ $� �( $�� 0�� flit/cell �+��" /$�'#� '# ��$+�. 
+��"

�����!/*#( ! #�� #/��(�� $�� flit/cell  �� )�#*�3� $� '$��%#(� ��� ��0�#� �� '�−

��#���!/*�3�  �� '$� #�'�$���� ��� *� #��'$�0=#� '$�� $#�#�$�(� �#$�&-&0�, $+$#

����&#$�� ��$+ $� #�'�$����. ��$+���, '��#%(4#$�� ! ������)� $�� flit/cell. �  �$�−

���-$�" �#� 0%#�  �*�'$0�!'! ���� �+��" 0�� flit/cell /$�'#� '# ��$+�, $� ���'3�#�

��0'-" ��+ $� �( $��.

3.6 �������,	 ��% +�+��(�	��% ��(��	��9�%

� ���'����-$�" �������*! # %�!'������2�$�" $!� &�2''� ���&�����$�'��3 C  ��

$! )�)���*� ! ���'$���5!" CSIM.	 )�)���*� ! ��$� '���0#$�� (links) �# $��  2�� �

$�� ���'����-$�  �� $�� ���0%#� �(� '#��� ��+ #�$��0". 	 )�)���*� ! �(�#� 0$���#"

���$(�#"  �� )�!*�#� 2'$# �� ���'����2�#$�� #3 ��� ���������$# '3'$!�� ���

����#( �� ���$#�����!*#( �# �(� '#��� ��+ #5��!�#$!$0"  �� ���0" � ���#" ���0"

����!". ���0%��$�� ���$(�#" ��� �������3� $� �#��)����� ���'���(-'!"  �� +,$�

%�#��4#$�� 0��" ���'����-$�" ��� ��!&#($�� ��+ &#&��+$� (event driven simulator).

�$�����$# '��)�(�#�  �$� $!� ���� #�� $!" ���'���(-'!", ���$#�#( 0�� &#&��+".

����%#� 0�� ��&� + ���+�, )�'#� $�� ���(�� ���&�����$(4��$�� $� &#&��+$� ���

��+ #�$�� �� '��)�3�. �#&��+$� ��� ��0�#� �� '��)�3� $��$+%����, # $#��3�$��

'#���� �, ���� � %�+��" ���'���(-'!" �#� ��5��#� �0%��" +$�� # $#�#'$�3� +��

$� &#&��+$� ��� #(��� ���&�����$�'�0�� �� '��)�3� '# �(� %���� � '$�&��. 
+−

��" 5# ���#� ! ���'���(-'! ����%#� �(� )�'� � ���$(�� ��� ��%� ����#( $� ���"



���'���(-'! '3'$!��.

�� #�#�&0" ��$+$!$#" $�� '�'$���$�" �����3� �� ������!*�3� -" 5#%-��'$� ��−

��$� (threads). ���0%#$�� �!%���'�+" 2'$# �0'� '$� ���('�� $�� �#�(�� ��#�*3�'#-�

�(�" ��#�&�'(�" �� �����3� ���/��#$� � ����$� # $0�#'!" #�$��2� �� #(��� #�#�&�.


# ��$+� $�� $�+��, %-�(" �� %�#��4#$�� ! #�0�)�'! $�� �#�$���&� �3 '�'$���$�",

��� #(��� �����$0�-" %����)+��, ����#( �� #�����''#$�� ! ��� # $0�#'!" �#$�53

$-� ���/+�-� �!��$-� ��� ���$#��3� $�" #�#�&0" ��$+$!$#" $�� ���'����-$�. �#

0�� ���$0�� ���'���(-'!" #�+" �� $3�� ��+ �#$�&-&#(", #�#�&0" ��$+$!$#" #(��� ��

�#$�&-&#(", �� ����&-&�( (�!&0")  �� ��  �$����-$0" (������'��(). 
���#( ����+�

�� ����%#� 0�� ���� # $0�#'!" &��  �*# 0��� ��+ ��$�3"  �� �#  ������ $�+�� ��

#�� ���-��3� �#$�53 $��".

�$� '3'$!�� ��� ���'����2�#$�� ����#( �� ����%��� �+��� ��+ $��" ���(��"

 ����� ���� ����#( �� 4!$�#� #5��!�0$!'!. ��� �� ���'����-*#( 0��" �+��", $�

CSIM ���0%#� $!� ���� facility. �# 0�� �����&�'$� + '3'$!��, facility ����#( �� #(���

0��" �(' �" � �(�  #�$�� � ������ #�#5#�&�'(�". <�#" �� ��$�'#�" &�� #5��!�0$!'!

��+ 0�� facility ���(���� '# �(� ����  �� �����&� �# $� ���*�" $-� #5��!�#$!$2�

��� $� facility ���*0$#�, #5��!�#$�3�$�� #($# '#���� � #($# �#  ������ ���� $�+��

��� ����$#( ! ���'���(-'!. �� ����$�, #�� ���-��3� �#$�53 $��" #($# �0'- $-�

$�+�-� ��� ���0%#� ! C, �!���� �0'- #5-$#�� 2� (global) �#$�)�!$2�, #($# �0'-

��$����&�" �!����$-�. �(��� ����$+� �� ���'$�3� &�����$� �)2$�� (mailboxes) '$�

���(�, 0�� ���� ����#( �� '$#(�#� 0�� ������ '#  ����� ����. 
# ��$+� $�� $�+��

*� �����3'�� cells �� �#����# ��+ 0��� ����&-&+ '# 0��� �#$�&-&0�, � ��+ 0���

�#$�&-&0� '# 0��� ����. <$�� 0�� ���� �!�����&#( 0�� ����, 0��" $�+��" &�� �� $��

�#��'#� ���'�0�#" ��!��/��(#" #(��� �# �0��'�� �����0$�-�  �$� $!�  ��'!. .#�

#(��� ����$� ���$-" 0�� ���� �� #��'$�0=#� �(� $��� '# ��$+� ��� $� #�#�&���(!'#.

� �+&�" &�� $�� ���(� &(�#$�� ! ���'���(-'!, #(��� &�� �� '���#&�3� ���'�0��

'$�$�'$� � '$��%#(� '%#$� � �# $� '3'$!�� ��� ���'����2�#$��. �� CSIM ���0%#�

0$���#" ���0" ��� '���0&���  �� #�#5#�&�4��$�� '$�$�'$� � '$��%#(�  �� $� ��&�−

�2���� #($# '# ���/� �(�� �, ��+$# �(���$�� ! �0'! $���, ! ���'����, $� �0&�'$�

 �� $� #��%�'$� $!" �0$�!'!" '$!� ���(� ���/0�#$�� � �(�� �", #($# /$��%���� $�

�'$+&����� +��� ���0%#$�� $� ���*�" $-� �#$��'#-� ��� ����$!��*! �� �0'� '#

 �*���'�0�#" �#���%0" $�� �#�(�� $��2�. ��+ $� ��� '!���$� � #�&��#(� ��� ���0%#�

$� CSIM #(��� ! &#���$��� $�%�(-� ���*�2�  �*2"  �� ! ����$+$!$� ! &#���$���

��$� �� ����&#� ���*��3" ��� � ����*�3� �(� #��*��!$�  �$����� +�-" # *#$� �,

 ����� �, ����+���/!  �� ���#". 
����3� ����'$� �� ����&��$�� #($# � 0�����,

#($# ���&��$� �( ���*��( ��� � ����*�3� ��$0" $�"  �$����0". ��, &�� �����#�&��,

%�#��4+��'$# 0��� ����&-&+ ��� �� &#���#�  (�!'! Poisson, �� #( �� ����05���#

�(� # *#$� �  �*�'$0�!'! �#$�53 �����%� 2� &#���'#-� �� 0$-�, #�2 #�� *0����#,

�����3�# �� #���05���# ����+���/� 0��� ������'�+ �0'� '$� �( $��.



���'�0�� ���)����$� ��� #�/��('$! ��  �$�  ����3" '%#$� � �# $!� %��'! $!"

)�)���*� !", 5#�#��'$! �� �# #��$�%(�. >�� $0$��� ��+)�!�� �$�� +$� ��%� �, �

���'����-$�" �$�� ��� ����+&!$� ��&+", � +��  �� '$� �� �� �����#(&��$� ���

�� ���'$! ��. �� ��+)�!�� ��$+ �/#(���$�� '$�� $�+�� �# $�� ���(� &(�#$��

! ���%#(��'! $!" '$�()�" $-� �!��$-� ��+ $� CSIM. <$�� &(�#$�� ����&� $��

����$�" ��� # $#�#($��, '24#$�� !  �$�'$�'! $!" '$�()�" $�� ����$�" ��� #(%# $��

0�#&%�  �� ��� +'� ��� �#&��! '$�()� 0%#� 0�� ����, $+'� ��� %����)+�� #(��� !

����� �'(� #�����&�" �!��$-�. �� ��+)�!�� ��$+ ��$��#$-�('$! #  ����$�" +'�

$� ����$+ ��� �� �+ $� ���*�" $-� $��� 2� �#$�)�!$2�  �*# ����$�",  ����$�" $�"

��+����#" �#$�)�!$0" #5-$#�� 0" (global). 
# ��$�� $!� ����&�, ! $�%3$!$� $��

���'����-$� �#�(��� �#�$����'��'$! #. >�� ���� ��+)�!�� ��� ��$��#$-�('$! #

'$!� ��%� # $0�#'!" ���'����2'#-� #(%#  �� ��$+ '%0'! �# $!� $�%3$!$� $��  ��

�/���3'# �(� #�$��� ��� /�(���$�� �� #(��� ��� ����+&!$� ��&� '$!� # $0�#'� $!".

��& # ���0��, ! #�$��� timed receive '$!� 0 ��'! $!" )�)���*� !" ��� �� ���'��#

��%� � �*�'$#��3'# ��#�)��� � $!� # $0�#'! $�����&�����$�". ��!'������2�$�"

#����� $� + $�+�� &�� $!� �����(!'! $�� ���)�'��$�" ��+ 0�� &�����$� �)2$��

�#���0���$�" &�� �� �+ %���� + ���'$!�� (��� #(��� ! �#�$���&(� $!" �������-

#�$���"), � %�+��" # $0�#'!" $!" ���'���(-'!" ���$#$�����'��'$! #.
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�$� �#�����$� ��� 0&����, ���'����2*! # ! '���#��/��� #�+" �� $3�� Banyan

butterfly �# 64 #�'+���"  �� #5+���" # $+" ��+ $!� ����� $-� �#�����$-� ��� �#�#$�#�

���/��#$� �3 �#&0*��" �( $��. ��*# �#$�&-&0�" $�� �� $3�� 0%#� 2 #�'+���"  �� 2

#5+���" '# +�#" $�" ����#" �#�����$-� # $+" ��$�" ��� �#�#$�#� $!� '���#��/���

$-� �� $3-� �# ���/��#$� �3 �#&0*��" �#$�&-&#(". �� �0&#*�"  �*# �� 0$�� '#

+�#" $�" ����#" �#�����$-� # $+" ��+ # #(�! ��� �#�#$�#� $!� '���#��/��� $��

�� $3�� +$�� $� �0&#*�" $�� �� 0$�� ����4#�, #(��� 20 cells/flits. � ���*�+" ��$+"

#���0%*! # ��%� � &�� �� #(��� '�& �('��� $� ���$#�0'��$� ��$�" $!" #�&�'(�" �#

$� ���$#�0'��$� $!" #�&�'(�" $�� W.J.Dally [Dally 90]. >�� �0&#*�" ��� �#$���#

#(��� ! ����%�  ��#'��3 (saturation throughput). �� �0&#*�" ��$+ #(��� ! ����%� ���

0%#� $� �( $�� +$�� $� /��$(� #�'+��� #(��� ���3 �#&���  �� !  (�!'! ��� ����&#$��

�#� #(��� ����$+ �� ��#� +�! �0'� '$� �( $�� ���� #(��� ���& �'�0�! �� �#���0�#�

'# ���0" '$�" #�'+���" $�� �� $3��. �� /���+�#�� ��� ����$!��'��# #(��� +$� +$��

$� /��$(� #�'+��� #(��� 1.0 ! ����%� $�� �� $3�� �#� �$�� ����$+ �� ��#�)#( $� 90%

&�� ���'�0�#" ������/2'#�" �#�����$-�. �$� (��� �#�����$� ��5����$�" $� /��$(�

#�'+��� ���- ��+ $� 1.0 �#$��'��# $!� ����%� $�� �� $3�� �� ��!'��4#� $� 100%.

��$+ �/#(�#$�� '$!� $�%��+$!$� �# $!� ���(� #���0&��$�� $+'� � ������'�+" #�+"

�� 0$�� +'�  �� � %�+��" �#$�53 �����%� 2� #���5#-� �#$���'!" $-� �� 0$-� ��+

$�" �!&0". �$� '%��� 4.1 /�(���$�� ! *#-�!$� � �#$�)��� $!" ����%�"  �*2"  �� !

�#$�)��� ��� �#$���# �# $!� ���'���(-'!.

<$�� � %�+��" ��� �3� �����%� � �� 0$� 5# ���3� $!� �#$���'� $��", � ����*#(

�(� # *#$� �  �$����� �# �(� �0'! $��� ��� #5��$�$�� ��+ $� �0&#*�" $�� �� 0$��1

1��-�(4��$�" $� �0&#*�" $�� �� 0$��, &�-�(4���#  �� $�� %�+�� ��� *� %�#��'$#( &�� �� �#$���*#(
��+ $�� ����&-&+. _�'#� $�� ���'��3 $�� /��$(�� $�� �� $3�� ��� #(��� �

�
+��� � #(��� � ��*�+" �# $��

���(� #�'0�%#$��  (�!'! �0'� '$� �( $��  �� � � ��*�+" �# $�� ���(� $� �( $�� #5��!�#$#((�#%#$��)
$!�  (�!'! ��$�, �� ��$�'$�0=���# $�  ��'��, )�0����# +$� � �+&�" $-� %�+�-� ��� 0�� �� 0$�
%�#��4#$�� &�� �� �����!/*#( ��+ $� �( $�� �# $�� %�+�� ��� $� �� 0$� %�#��4#$�� &�� �� �#$���*#(
��+ $�� ����&-&�, #(��� ('�" �# $�� /+�$� $�� �� $3��.
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b=1, L=4

�%��� 4.1: 
#$�)��� $!" ����%�" *#-�!$� �  �� '# ���'���(-'!

����#( &�� $�%�(��" �+&��" �� �!�����&�3�$�� �#&���  #�� �#$���'!" � +��  ��

+$�� $� /��$(� #(��� 1. �� /���+�#�� ��$+ )0)��� $#(�#� �� #5�/��(4#$�� +'�

�#&��2�#� � %�+��" ���'���(-'!" ���� &�� $�� %�+�� ��� %�#��'$! # &�� ��

&(���� �� ���'����2'#�", �� #�����'#�" �#� #(��� ��#�!$0#". �� /���+�#�� ��$+

�#� #�!�#�4#� $!� �5����'$(� $-� ���'����2'#-� �/�3 �#�� � ��+ $� ���$#�0'��$�

&�� $��� � �����#(&��$�, #�0&%*! �� ��&+$#��  �� �# $!� %��'! ���'$!��$-�

#���'$�'3�!",  �� $� �#�����$� ��� 0&����, 0�#�5�� +$� �# ��*��+$!$� 0.95 ! �0'!

$��� $!" -" ���" �0$�!'! �#$�)�!$�" )�(' #$�� $� ���3 1% �� ��� ��+ $!� $���

��� �����&(4#� � ���'����-$�". Y��� �0&#*�" ��� �#$���# #(��� !  �*�'$0�!'! ���

���)���#$�� 0�� cell � 0�� �� 0$� �0'� '$� �( $�� ����  �� # $+" ��$�3, '$�" ���0"

��� �!�����&�3�$�� '$�" #�'+���" $�� �� $3�� +$�� $� /��$(� #(��� �=!�+. �����&�

�# $� �#(���� ����%��� 2 #(�!  �*�'$#��'#-� ��� �#$���#.

� ��*�'$0�!'! $�� �� $3��. ��2 �#� �#$���# $!�  �*�'$0�!'! '$�" ���0"

#�'+��� ���� �+�� ��$�� ��� ����$!�#($�� �#$� $!� #('��� $�� cell � $��

�� 0$�� �0'� '$� �( $��.

� ������ �  �*�'$0�!'!. ��2 �#$���# $!�  �*�'$0�!'! ��+ $!� '$�&�� $!"

&0��!'!" �0%�� $!� '$�&�� $!" ������'!" '$��  �$����-$�. ��2 '���#�����−

)��#$�� �!����  �� � %�+��" �������" '$�" ���0" #�'+��� $�� �� $3��.

�$� &��/���$� ��� �����'��4��$�� ���� �$- ����*0$���# $!� '����� �  �*�'$0−

�!'! $-� cell/flit.

��  ��$���� �# $� ���(� $#���$(4#$�� ! ���'���(-'! #(��� ! �/�5! $�� �� 0$�� �#

�35��$� ���*�+ 13000 '#  ������ ��+ $��"  �$����-$0" (������'��3") ��#5��$!$�

��+ $� �+'#" �����#" ���'����-�0��� %�+��� %�#��4��$�� &�� �� &(�#� ��$+. �#  �*#

�#(����, �0%�� �� ������*�3� 3000 �� 0$� �#� '���0&��$�� '$�$�'$� � '$��%#(�. �

�+&�" &�� $�� ���(� �#���0����# '$!� ��%�  ��  �$+��� ��%(4���# �� '���0&���#



'$�$�'$� � '$��%#(�, #(��� +$� �#���0����# �� ���0�*#� ! �#$�)�$� � �#�(���" $��

'�'$���$�" &��$(  �$� $!� ���� #�� ��$�", �� �#$��'#�" �#� ��$��� �(���$�� '$!�

#� +�� ��� �����'��4#� $� '3'$!�� +$�� /$�'#� '# '$�*#��  �$�'$�'!. � ���*�+"

3000 ���/�'('$! # �# )�'! $� �#�����$� � ���$#�0'��$�. 	 ����$��!'! ��� 0&��#

#(��� +$� �#$� ��+ 2500 �#�(��� �� 0$�, ! �#$�)��� '$!� �0'! $��� $-� �#$��3�#�-�

�#&#*2� �#� ����4#� ���3  �� ��� ����#( �� &(�#� ! ��&� � ��+*#'! +$� �#$� ��+

3000 �� 0$� 0%#� /$�'#� $� �( $�� '# '$�*#��  �$�'$�'!. ��� �( $�� �#&��3$#���

�#&0*��", �� ���'����2'#�" ��� 0&���� #(%��  ��$���� $#���$�'��3 $!� ������)�

26000 �� 0$-�  �� '$!� ��%� �#� �#$��*! �� �� #���+'#�" $-� ��2$-� 6000 �� 0$-�.

�$!� '��0%#�� $!" #�&�'(�", &�� �� �#��&��=���# $!� ����+�/-'! $�� �� $3��,

*� %�!'�������3�# $�� � +���*� '��)���'�+:

� _ : '��)��(4#� $� ���*�" $-� cell/flit ��� %-���# �0'� '$�� %2�� ���*� #�'!"

��� �/�#�2�#$�� '# 0��� '3��#'��.

� b : '��)��(4#� $� ���*�" $-� cell/flit ��� �����3� �� %-�0'��� '$�� %2�� ���

�/�#�2�#$�� &�� �(� �-�(��.

� L : '��)��(4#� $� ���*�" $-� �-�(�-� ��� '3��#'��.

��+ $��" �������- ���'��3" $-� '��)+�-� ����$!��3�# +$� �'%3#� ! �'+$!$�

B � b � L

4.1 
���+(�	 ��� �(��
�� ������% �����(�

4.1.1 '����� Poisson

�# ��$�� $!� '#��� �#�����$-� �#�#$��# $!� '���#��/��� $�� �� $3�� +$�� !

 (�!'! #�'+��� � ����*#(  �$����� Poisson '# #�(�#�� �� 0$��. �� �0&#*�"  �*#

�� 0$�� #(��� '$�*#�+  �� ('� �# 20 cell (&�� $� ATM)/flit (&�� $� wormhole). ��

%��� $!��'$� + ��$�" $!" ���/�"  (�!'!" #(��� � # *#$� +" %�+��"  �*�'$0�!'!"

�#$�53 $!" &0��!'!" �3� �� 0$-� '#  �*# �(� �!&�. �� �( $��, $�� ���(�� !

'���#��/��� �#�#$�*! #, #(��� 0�� �( $�� Banyan �# 64 #�'+���"  �� #5+���" $�

���(� ���$#�#($�� ��+ �#$�&-&#(" 2� 2.

�$� &��/���$� ��� ����*0$���#'# ��$+ $�  #/����� /�(�#$�� ! ����%�  ��#'��3

(saturation throughput) &�� �(� '#��� ��+ ������/2'#�" (configurations) '$�" ���(#"

����4#� $� �0&#*�" $�� %2��� ���*� #�'!" (buffer) ����  �� $� ���*�" $-� �-�(�-�

��� '3��#'��. � +�� /�(�#$��  �� ! �0'!'����� �  �*�'$0�!'!  �*# cell/flit +$�� $�

/��$(� #�'+��� #(��� #��/�3 (/��$(� 0.2, 0.4) ����  �� +$�� $� /��$(� #(��� )��3 (0.8).

	 #����&� 2 �#���$2'#-� ��� $� /��$(� #(��� #��/�3 0&��# &��$( '$!� �#�(�$-'! $��
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�%��� 4.2: ����%�  ��#'��3 �#  (�!'! Poisson

wormhole, &�� �#�� 0" ������/2'#�" �#�����$-�, $� /��$(� 0.4 #(��� #($# ���- ��+

#($# ���3  ��$� '$!� ����%�  ��#'��3 $�� �� $3��  �� ��� �#� ����#( �� *#-�!*#(

#��/�3. � +�� $� �0&#*�" $�� %2��� ���*� #�'!"  ���(�#$�� ��+ 1 0-" 16 (�����#"

�0$�!'!" '# ���*�" cell/flit ��� ����#( �� ���*! #3'#�) &�� +�#" $�" �����#�" $�� 2

�0'� '# ��$� $� +���.

�$� &��/���$� $�� '%���$�" 4.2 /�(�#$�� +$� $� ATM 0%#�  ��3$#�! ����%� ��+

$� wormhole &�� +�#" $�" ������/2'#�". �����0�� /�(�#$�� +$� � +��  �� &�� �� ��

�#&0*! %2��� ���*� #�'!" (�.%. 4)  �� � +��  �� �# �� �+ ���*�" �-�(�-� (�.%.

1) #��$�&%��#$�� ���3  ��� ����%�  ��#'��3 ('$� �����#�&�� +��� B � 4� L � 1 !

����%�  ��#'��3 #(��� 0.92). �� ��$+� $�� �+&� ! ���'*� ! �-�(�-� �#� )#�$�2�#�

'# ��$�� $!� �#�(�$-'! $�" (���3  ��0") #���+'#�" $�� �� $3��. ��$(*#$�, '$!�

�#�(�$-'! $�� wormhole ! ����%�  ��#'��3, &�� /$-%� '# �+���" �( $��, �#�

#(���  ���. ��$+ )#�$�2�#$�� �# $!� ���'*� ! �-�(�-�. ��� �� #��$#�%*#( +�-"

�������'������%��#��$� $��ATM,%�#��4��$�� ���3�#��''+$#��� �+���. ����%�

 ��#'��3 0.92 &�� �����#�&�� ��� #��$�&%��#$�� ��+ 0�� �( $��ATM�#B � 4� L � 1

, &�� �� #��$#�%*#( ��+ $� wormhole %�#��4#$�� �� #(��� B � 16� L � 16.

�$� &��/!�� &�� $!� �#�(�$-'! $�� wormhole �#��0%��$��  �� $��0" ��� �#�����−

)����$��  �� '$!� ���/��� [Dally 90]. ��& �(���$�" ��$0" $�" $��0" �# $�" ��$('$��%#"

$�� Dally ����$!��3�# +$� #�#(" $�" )�(' ���# �=!�+$#�#". ��$+ �/#(�#$�� '$� +$�

'$!� #�&�'(� [Dally 90], '#  �*# #('��� �#$�&-&0� ����%#� �(� ����  ��  �*# flit

�#��� ��+ ��$�� ���� ��0�*#� ��+ $�� �#$�&-&0�. ��!'������#($�� �!���� input

buffering. �$� '%��� 4.3 /�(�#$�� 0�� �� 0$� $� ���(� 0%#� ���� ���'$#( '$�� �#$�−

&-&0� _ ���� #�#��� �#� %-��#� ��+ �!�� '# ��$+�, �#�� � ��+ $� flit $�� �� 0$��

)�(' ��$�� '$�� �#$�&-&0��. �$!� �����(!'! ��� #(%# &(�#� '$!� #�&�'(� [Dally 90],

$� flit $�� �� 0$�� ��� )�(' ��$�� '$�� �#$�&-&0� � ���� �����  �� ���������$#

���� �� 0$� *0�#� �� %�!'�������'#� $!� �-�(�� ��$�. �$�� ���'����-$� ���



A B

Input Buffer Input Buffer

Central Buffer Central Buffer

A B
Input Buffer Input Buffer

�%��� 4.3: Input vs Central Buffering

�������'��# �#� %�!'������#($�� input buffering ���� central buffering. Cells #�+"

�� 0$�� �#�  �$����)����� ����! '$!� #('��� $�� �#$�&-&0� ���� ���'3���$�� '#

�(�  #�$�� � ����!  �� ��#�#�*#�2���� $!� ����! #�'+���. >$'� #��$�0�#$�� '# 0��

�� 0$� ��� *0�#� �� %�!'�������'#� $�" #�#3*#�#" *0'#�" ����!" ��$�" $!" �-�(��"

&�� �� ���-*!*#( '$!� #��*��!$� 05���,  �� �� ���'�#��'#� $� ���� ���'�0��

�� 0$� #/+'�� ����#( �� �#$���*#(.

�$� &��/���$� $��'%���$�" 4.4 ����'$��#$�� !�0'!'����� � �*�'$0�!'!'$!�

���(� ���)�����$�� $� cells '# '����$!'! �# $� ���*�" $-� �-�(�-�  �� &�� ���/��#"

������/2'#�" �� $3��. ��2 )�0����# +$� #/+'�� #(��'$# �� ��� ��+ $!� ����%�

 ��#'��3 '$� wormhole, !  �*�'$0�!'! #(��� '$� (��� #�(�#�� '�& ���+�#�! �# $�

ATM. 	 ����%�  ��#'��3 +�-" #(��� ���3  ��3$#�! '$!� �#�(�$-'! $�� ATM  ��

��� #��$�&%��#� �� �0"  �*�'$#��'#�" � +��  �� '$!� �#�(�$-'! $!" ���" �-�(��".

����$!��3�# #�2 0�� /���+�#�� ��� �#� �$�� ����#�+�#��: !  �*�'$0�!'! /�(�#$��

�� ��5��#$��  �*2" $� �0&#*�" $�� %2��� ���*� #�'!" �#&��2�#�  ��$2�$�"'$�*#�+

$� ���*�" $-� �-�(�-�. ��$+ '��)�(�#� &��$( ��5����$�" $� �0&#*�" $�� %2���

���*� #�'!", ��5��#$��  �� $� ���*�" $-� cell/flit ��� ���(���� �0'� '$� �( $��.

���$2�$�" +�-" '$�*#�+ $� ���*�" $-� �-�(�-� �����0�#� '$�*#�� ! ����$+$!$�

$�� �� $3�� �� �#$�/0�#� ������!�� ��$�� $!�  (�!'!. �#��''+$#�!  (�!'! ���(�#�

�0'� '$� �( $�� ���� �����0�#� # #( &�� �#��''+$#�� %�+��.

�$� '%��� 4.5 ���)�����$��  �� $� &��/���$� $!"  �*�'$0�!'!" +$�� $� /��$(�

#�'+��� #(��� )��3. �# ��$�� $!� �#�(�$-'! #����/0��� �����'��4#� �+�� $�

ATM �/�3 $� wormhole '���*-" 0%#� ����%�  ��#'��3 �� �+$#�! ��+ 0.8  �� !

 �*�'$0�!'! �#&��2�#� '��#%2". ��2 �#� �����'��4#$�� ���$� $� /���+�#�� ���
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�%��� 4.4: �3& ��'! ��+ '��*� #"  (�!'!" Poisson %��!��3 /��$(��

����$!��'��# ���!&���0�-". ��*2" ��!'��4���# '$�/��$(� ��� ��� ��#(  ��#'�+

'$� �( $��, ��%(4#� !  �*�'$0�!'! '$�" ���0" #�'+��� ��  �����%#( (�� #(��� �!����

�#&��3$#�!) $!"  �*�'$0�!'!" �0'� '$� �( $��. �� ����$!��'���# ���'# $� � $�

&��/!�� &�� $� ATM, )�0����# �� #�/��(4#$�� '$!� �#�(�$-'! $-� 8 �-�(�-� $�

/���+�#�� $!" �35!'!" $!"  �*�'$0�!'!"  �*2" ��5��#$�� $� �0&#*�" $�� %2���

���*� #�'!". <$�� �� �-�(�#" #(��� 4, $� /���+�#�� #5��#(/#$��, #�2 +$�� $�

���*�" $-� �-�(�-� �� �3�#� � +�� �#��''+$#��, !  �*�'$0�!'! '$�" ���0" #�'+���

$�� �� $3��  �����%#(  �� $� /���+�#�� ��$�'$�0/#$��. �# ��$�� $!� �#�(�$-'!

)�0����# +$� ! ���'*� ! �-�(�-� '$� ATM �#�2�#� $!�  �*�'$0�!'! '$!� ���(�

���)�����$�� $� cells.

�# &#�� 0" &����0" �����3�# �� ����$!��'���# +$� ��  �*�'$#��'#�" $-� cell/flit

#(��� '$� (��� #�(�#�� '$�" �#���$2'#�" ��� $� wormhole #(��� �� ��� ��+ $� '!−

�#(�  ��#'��3 ���� #�#��� $� ATM #��$�&%��#�  ��3$#�! ����%�, #��$�&%��#�

���3  ��3$#�#" #���+'#�" '# �=!�+$#�� /��$(�. � +�� ����$!��3�# +$� ! ���−

'*� ! �-�(�-� )#�$�2�#� '!���$� � $�" #���+'#�"  �� $�� wormhole ����  �� $��

ATM '# �� �+$#�� )�*�+, �/�3 !  �*�'$0�!'! '$!� ���(� ���)�����$�� $� cell
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�%��� 4.5: ��& ��'! ��+ �=!��3 /��$(��  (�!'! Poisson

#(��� '!���$� � �� �+$#�! +$�� ��5����$�� �� �-�(�#"  �� ��!'��4���# '$� /��$(�

 ��#'��3.

4.1.2 ��������	 ������

�� #��'$!���� 0" #/����&0" ��� %�!'�������3� ������!���" �����&�'$0" ����

'�%�� �!�����&�3� # �! $� �  (�!'! ���- '$� �( $�� ���'3��#'!". 
#&��#"

��'+$!$#" �#���0�-� ��0�#� &�� �����#�&�� �� �#$�/#�*�3� �#$�53 $-�  +�)-�

��� �#$0%��� '# 0��� �����&�'�+ [DUSH 93]. ��*2" ! $�%3$!$� �# $!� ���(� ��

�!&0" #�'�&���  (�!'! �0'� '$� �( $�� ��5��#� '��#%2", ��0�#� �� �#���0����#

+$� �#&��3$#�� #3��" 42�!" (bandwidth) *� %�!'������#($�� &�� �� �+$#�� %���� +

���'$!�� [Kung 92]. Y��� �����#�&�� #(��� #5��!�#$!$0" ��%#(-� (file servers) ���

%�#��4#$�� �� �#$��+'��� �#&��� ��%#(� '# 0��  �$��#�!�0�� '3'$!��.

��� # �! $� � ����#( �� %��� $!��'$#(  (�!'! $!" ���(�" $� ���$0�� 0%#� $�

� +���*� %��� $!��'$� �

� �/+'�� �(� �!&� �#� �#$��(�#�, $+$# �# �#&��! ��*��+$!$� �#� *� �#$��+'#�

'$� '3�$��� �0����  �� �# �� �� ��*��+$!$� *� �#$��+'#�.

� �/+'�� �(� �!&� �#$��(�#� �#���0��, $+$# �# �#&��! ��*��+$!$� '$� '3−

�$��� �0���� *� '��#%('#� �� �#$��(�#� �#���0��  �� �# �� �� ��*��+$!$� *�

'$���$�'#� �� �#$��(�#�.


#)�'! $� �������- %��� $!��'$� � !  (�!'! ��� ���(�#� �0'� '$� �( $�� +$�� 0��

�� 0$� /$��#� '$!� #('��� $�� �� $3��  �� %-�(4#$�� '# cell/flit, ����#( �� *#-�!*#(

# �! $� � '# #�(�#�� cell/flit.


#�#$�'��# �-" #�!�#�4��$�� �� #���+'#�" #�+" �� $3��  �*2" �#$�)���#$�� $�

�0&#*�" $-� �� 0$-� ���  � ��/���3� �0'� '# ��$+. ��� $��� + �( $�� #���0%*! #



0��Banyan�#64#�'+���" �� #5+���", ���$#��3�#����+�#$�&-&#(" 2�2. ���0&#*�"

$�� %2��� ���*� #�'!" #(��� B � 8  �� �� ������'��( $-� �� 0$-� #���0&��$��

����+���/�. � %�+��" ��� �#'���)#( �#$�53 $!" &0��!'!" �3� �� 0$-� #(��� $�%�(�"

 �� � ����*#( $!� # *#$� �  �$�����. �� ���*�" $-� �-�(�-� ��� 0%#� $� �( $��

�#$�)���#$�� ��+ 1 '# 8 (���$(*#�$�� �� �����#�" $�� 2)  �� $� �#&0*! $-� �� 0$-�

��� �#�#$�3�$�� #(��� 10, 20, 40, 160 cell/flit. �$�" �������- �#���$2'#�" �#$��3�$��

! '����� �  �*�'$0�!'! '$!� ���(� ���)���#$�� 0�� cell/flit  �*2"  �� ! ����%�

 ��#'��3 &��  �*# �(� ��+ $�" ������/#�*#('#" ������/2'#�" $-� �� $3-�. 	

 �*�'$0�!'! �#$��$�� +$�� $� /��$(� #�'+��� #(��� 0.4.
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�%��� 4.6: �3& ��'!  �*�'$#��'#-� +$�� ����4#� $� �0&#*�" �� 0$��

�$� '%��� 4.6 /�(���$�� ��  �*�'$#��'#�" $-� cell/flit '# '����$!'! �# $� ���*�"

$-� �-�(�-�, &��  �*# �0&#*�" �� 0$��. ����$!��3�# +$� +'� �#&��2�#� $� �0&#*�"

$�� �� 0$��, $+'� ��� ���3 #�!�#�4#$�� !  �*�'$0�!'! $-� cell/flit &�� �� �+ ���*�"

�-�(�-�. 	 #���#�� �#�2�#$��  �*2" �#&��2�#� $� ���*�" $-� �-�(�-�. ���+$� '$�

ATM !  �*�'$0�!'! �����0�#� ���$� �#�����'�0�!, '$� wormhole �#&��2�#� ���3

�  �� ��#��+��'$� '$�" �#���$2'#�" +��� ! ����%�  ��#'��3 #(��� �� �+$#�! ��+ $�

/��$(� #�'+��� '# ���'�0�#" ������/2'#�".

<�-" /�(�#$�� '$� '%��� 4.7, ����$!��3�# +$�  �� ���� ! ����%�  ��#'��3 &��

$� ATM #(��� ���3 �=!�� '# +�#" $�" �#���$2'#�", /���+�#�� ��� �#� ����$!�#($��

'$� wormhole. �$� wormhole /�(�#$�� +$� �� #���+'#�" �0/$���, +$�� �#&��2�#� $�

�0&#*�" $�� �� 0$��, �# �#&��3$#�! $!� #��)����'! +$�� $� ���*�" $-� �-�(�-�

#(��� �� �+$#��. 
#&��� �� 0$� ���(���� '$� �( $�� $� ���(� +$�� ���� ���'$�3�

���2���$�� '# +�� $� �� �" $�� �� $3��  ��  �$����)����� �+���" '# �����3"

�#$�&-&#(" �0'� '# ��$+. �� /���+�#�� ��$+ �#�#$�*! #  �� ��� #��� � �# �#�� �

�#�����$� &�� B � 8� L � 1 +$�� $� �� 0$� 0%#� �0&#*�" 6, 7, 8, 9, 12, 15, 16, 17  �� 20.

<�-" /�(�#$��  �� '$� '%��� 4.8 +$�� $� �0&#*�" $�� �� 0$�� #(��� �� �+$#�� ��+ 8,

! ����%� $�� �� $3�� #(��� �#&��3$#�! ��+ 0.6. �$�� ���� ��#$�� 0�� �� 0$�, �#�
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�%��� 4.7: ����%�  ��#'��3 &�� ���/��#$� � �#&0*! �� 0$-�

�� #( &�� �� &#�('#� $�� %2�� ���*� #�'!" #�+" �#$�&-&0� �� �/��#$�� $����%�'$��

�(� *0'!  #�� &��  ����� ���� �� 0$� �� ��0�*#� ��+ $�� �#$�&-&0�, ���'�#��2�$�"

$� ���� ���'�0�� �� 0$� +�-" �#��&��/! # '$� 4.1.1. <$�� $� �0&#*�" $�� �� 0$��

&(�#� ('� �# $� �0&#*�" $�� %2��� ���*� #�'!", $� /���+�#�� ��$+ �#� '��)�(�#�  ��

! #�(�$-'! #(��� ! ��+$��! �$2'! $!" ����%�" ��+ 0.64, +$�� $� �0&#*�" �� 0$��

#(��� 7, '$� 0.56 +$�� $� �0&#*�" �� 0$�� &(�#� 8. �����&� /���+�#�� �����'��4#$��

 �� '$!� �#$�)�'! $�� �#&0*��" �� 0$�� ��+ 15 '# 16, ��+$# +$�� ���� ���'$#( 0��

�� 0$�, $+$#  �$����)��#� ����-" $�� %2�� ���*� #�'!" 2 �#$�&-&0-�.
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�%��� 4.8: ����%�  ��#'��3 wormhole �# �(� �-�(��

�����$� �, #(��� #�/��0" +$� $� ATM #��$�&%��#�  �� #�2 '!���$� � )#�$�-�0�#"

#���+'#�" ��+ $� wormhole. }�(�#$�� #�('!" +$� ! ���'*� ! �-�(�-� )#�$�2�#�

'!���$� � $+'� $�" #���+'#�" $�� wormhole, +�-" #(���#  �� '$� 4.1.1, ����  �� &��

$� ATM $!�  �*�'$0�!'! '$!� ���(� ���)�����$�� $� cells +$�� $� �0&#*�" $��

�� 0$�� #(��� �#&���.



4.1.3 '����� �� ����� ������

	  (�!'! ��� &#���$�� ��+ ������!�#" #/����&0", # $+" ��+ $� +$� '�%�� #(���

# �! $� �, '�%�� �#� 0%#�  �� $!� ���+$!$� $!" ��������/(�" '$!� #����&� ������−

'��3. ���'�0��� ������'��( ����#( �� #���0&��$�� ��� '�%�� ��+ �����" [Kung 92].

�����#(&��$� ��$�3 $�� #(���" $!"  (�!'!" ����#( �� ����&��$�� ���" 0��� #5��!−

�#$!$� (server) �0'� '# 0��  �$��#�!�0�� '3'$!�� � ��+ ���5#�" '�&%����'��3 �(�"

������!�!" #/����&�". 	 #� +�� ��� 0%���# ����+� ��+ $� ���!&�3�#�� �#�����$�,

�#� #(��� ����!". �(��� #����/0��� �� ��3�# $� �2" #�!�#�4#� $�" #���+'#�" #�+"

�� $3�� ! 3���5! #�+" �  �� �#��''�$0�-� ����	
 ������
 (hot spots) '$�" #5+���"

$�� �� $3�� �!���� ������'�2� ��� 0%��� '��#%2" /��$(�. �# ��$�� $!� �#�(�$-'!

#(��� #����/0��� �� �#�#$�'���# $�" #���$2'#�" ��� 0%#� ! 3���5! *#��2� '!�#(-�

'$!�  �*�'$0�!'! $!"  (�!'!" ��� �#� �!&�(�#� '# *#��+ '!�#(�. 	  (�!'! ���

�!&�(�#� '#  ����� *#��+ '!�#(� ���%�#-$� � *� ���)�!*#( '# �#&��#"  �*�'$#��−

'#�". �# 0�� �( $�� ��� #(��� �( ���, !  (�!'! ��� �#� �!&�(�#� '# *#��+ '!�#(�, �#�

��0�#� �� #�!�#�4#$�� ��+ $!�  (�!'! ��� �!&�(�#� '#  ����� *#��+ '!�#(�.

�$� �#�����$� ��� � ����*�3�, &(�#$�� �(� #����&� ��+ $��" ��*���3" ������−

'��3" &�� $� ����� *� #(��� *#��� '!�#(�. <$�� $� *#��� '!�#(� #(��� �#��''+$#��

$�� #�+", $� $���*#$�3�# +'� ��� �� ��� �#$�53 $��" #(��� ����$+. ���  �*# 0�� ��+

$� *#��� '!�#(� ����&#$��  (�!'! /��$(�� 1 ��+  �*# �!&�. ��� +���" $��" ��+−

������" ������'��3" ����&#$��  (�!'! /��$(�� 0.2 (#��/��  (�!'!). 	  (�!'! ��$�

��������4#$�� ����+���/� ����#'� '$��" ��+������" ������'��3", ��$�3" �!����

��� �#� #(��� *#��� '!�#(�. �� �( $�� ��� �#�#$�'��# #(��� Banyan �# 64 #�'+���"

#�'+���"  �� #5+���". �� �0&#*�" $�� �� 0$�� #(��� 20 cell/flit. 
#�#$�'��# $!�

'���#��/��� $-� �� $3-� �# �0&#*�" %2��� ���*� #�'!" 8  �� 16  �*2" $� ���*�"

$-� �-�(�-� ��(��#� +�#" $�" ����$0" $��0" ��� #(��� �����#�" $�� 2. �� ���*�"

$-� *#��2� '!�#(-� ��� �#�#$�'��# #(��� 1, 2, 4. �$� &��/���$� ��� � ����*�3�

����%���  �� ��  �*�'$#��'#�" +$�� �#� ����%��� *#��� '!�#(� &�� $� (��� /��$(�

#�'+��� (0.2).

�$� '%��� 4.9 /�(���$�� $� &��/���$� $-�  �*�'$#��'#-� '# '����$!'! �#

$� ���*�" $-� �-�(�-� ��� '3��#'��. ��& �(���$�" $� ��$('$��%� &��/���$�

�#$�53 ATM  �� wormhole ����$!��3�# +$� ! 3���5! *#��2� '!�#(-� 0%#� ���3

�#&��3$#�! #�(�$-'! '$!�  �*�'$0�!'! $-� flit ��� �#� �!&�(���� '# *#��+ '!�#(�

'$!� �#�(�$-'! $�� wormhole, ��+ $!� ��$('$��%!  �*�'$0�!'! $-� cell '$!�

�#�(�$-'! $�� ATM. ��2 ! ��2$! #(��� �#�(��� 1600 %�+��� cell, ! �#3$#�! #(���

'$!� �#���%� $-� 350 %�+�-� cell &�� $!� �#�(�$-'! $!" �(�" �-�(��". ��*2" $�

���*�" $-� �-�(�-� ��5��#$��, ��  �*�'$#��'#�" �#�2���$�� ����  �� ���� $� ATM

0%#�  ��3$#�! '���#��/���. 
# �� �+ ���*�" �-�(�-�,  �� '�& # ���0�� �(&�

�#&��3$#�� ��+ $� ���*�" $-� *#��2� '!�#(-�, !  (�!'! ��� �!&�(�#� '# *#��+
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�%��� 4.9: ��*�'$0�!'! &��  (�!'! �# ���/��#$� � ���*! *#��2� '!�#(-�

'!�#(� �#� #�!�#�4#�  �*+��� $!� ��+����!  (�!'!. 	  �*�'$0�!'! $!"  (�!'!" ���

�#� �!&�(�#� '# *#��+ '!�#(� �0/$#� '$� #�(�#�� $!"  �*�'$0�!'!" '$!� �#�(�$-'!

��� �#� ����%��� *#��� '!�#(�.

�$!� �#�(�$-'! $�� wormhole ��$(*#$�, � +��  �� '$!� �#�(�$-'! $�� #�+"

*#���3 '!�#(��, �#� �� �3� 4 �-�(�#" &�� �� #5��#(=��� $�" '��0�#�#" ��� 0%#�

'$!�  �*�'$0�!'! $!"  (�!'!" ��� �#� �!&�(�#� '# *#��+ '!�#(� ! 3���5! ��$�3

$�� *#���3 '!�#(��. ��$+ �/#(�#$�� '$�� $�+�� �# $�� ���(�  � ��/��#( !  (�!'!

�0'� '# 0�� �( $�� wormhole  �� '�& # ���0�� '$� &#&��+" +$� �#� '�&%-�#3��$��

$� �� 0$� ��� �!&�(���� '$�� (��� ������'�+ '# �(� ����� ���" +�-" &(�#$�� '$!�

�#�(�$-'! $�� ATM ��� �#�#$��#. 	  (�!'! ���" $� *#��+ '!�#(� �/��#$�� %-�("

0�#&%� �� &#�('#� $�� %2�� ���*� #�'!" $-� �#$�&-&0-� �' ���. .#� #��$�0�#$��

0$'� '$!�  (�!'! ��� �#� �!&�(�#� '# *#��+ '!�#(� �� ���%-��'#� %-�(" ��+)�!��

 �� �� ���'�#��'#� $!� ���$������'�0�!  (�!'! ���" $� *#��+ '!�#(�. ��$+

�#� '��)�(�#� '$!� �#�(�$-'! $�� ATM +��� !  (�!'! ��� �!&�(�#� '$�� (���

������'�+, '�&%-�#3#$�� '# ����#" ���"  ��  �$����2�#� �+�� 0�� �0��" ��+ $��

%2�� ���*� #�'!"  �*# �#$�&-&0�. �/+'�� $� ���*�" $-� �-�(�-� #(��� #��/��



�#&��3$#�� ��+ $� ���*�" $-� *#��2� '!�#(-�, ���$� ����%#� �-�(�� ��� �#� #(���

 �$#��!�0�! ��+  (�!'! ��� �!&�(�#� '# *#��+ '!�#(�. 	  (�!'! ��� �#� �!&�(�#�

'# *#��+ '!�#(�, ����#( ��  ��!*#( ��#�!�0�'$!.
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�%��� 4.10: ��+'$�'#�" ������'�2� '# 0�� �( $�� Banyan 16� 16

�����/0��� #(��� �� ��3�# �� !  (�!'! ��� �����(4#$�� " ��$�" '# 0�� *#��+

'!�#(� 0%#� �#&��3$#�#" #���$2'#�" '$!�  �*�'$0�!'! '$!� ���(� ���)���#$��

'�& ��$� � �# $!�  (�!'! ��� �����(4#$�� "�� �3$#��" ��+ ��$+. �� ��$+� $�� �+&�

%�#��4#$�� �� ��('���# �(� 0����� ��+'$�'!" �3� ������'�2� #�+" �� $3�� Banyan.

��(4���# ����+� -" ��+'$�'! �3� #5+�-� #�+" �� $3�� Banyan -" $�� �0&�'$� ���*�+

#���0�-� $�� �� $3�� +��� $� ����0�$�� ��� ��!&�3� '#  �*# �(� 05��� #(��� 50��

�#$�53 $��". �$� '%��� 4.10 /�(�#$�� 0�� �( $�� �# 16 #�'+���"  �� #5+���". �$!�

�#5�� � �! $�� '%���$�" /�(���$�� �� ���'$�'#�" ���/+�-� ������'�2� ��+ $��

������'�+ 0111 (����� +). ����$!��3�# ����+� +$� � ������'�+" 0110 )�(' #$�� '#

��+'$�'! 1. �� ����0�$�� ��� '���0#� $�� ������'�+ 0111 �# $�" �!&0"  �� ��$+

��� '���0#� $�� 0110 �# $�" �!&0" ���/0���� �+��  �$� 0�� #�(�#��, ��$+ ��� #�2�#�

$�� $#�#�$�(� �#$�&-&0� �#  �*0��� ��+ $��" ������'��3". ��$� $�� (��� $�+�� '#



��+'$�'! 2 )�(' ��$�� �� ������'��( 0100  �� 0101, &��$( $� ����0�$�� ��� $��"

'���0��� �# $�" �!&0" ���/0���� '# �3� #�(�#�� ��+ ��$+ ��� '���0#� $� 0111 �# $�"

�!&0". �#�� � '# ��+'$�'! � ��+ 0�� ������'�+ )�(' ��$�� 2��1 ������'��(.
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�%��� 4.11: ��*�'$0�!'! '# '����$!'! $!" ��+'$�'!" ��+ $� *#��+ '!�#(�

�$� '%��� 4.11 �����'��4��$�� $� &��/���$� $!"  �*�'$0�!'!" $!"  (�!'!" '#

'����$!'! �# $!� ��+'$�'! $�� ������'��3 $!" ��+ $� ������ + *#��+ '!�#(�. �$!�

�#�(�$-'! $�� ATM, )�0����# +$� &#�� � �#� #����� � ����&��$�" ��+'$�'! ��+ $�

*#��+ '!�#(� '$!�  �*�'$0�!'! $!"  (�!'!". �� #5���0'���# $!� �#�(�$-'! $!"

�(�" �-�(��", '$�" ��+����#" �#���$2'#�"  �� !  (�!'! ���)���#$�� '# ���+���#"

 �*�'$#��'#�" ��#5��$!$� $!" ��+'$�'!" ��+ $� *#��+ '!�#(�. >��" ������'�+"

����+� ��� )�(' #$��  ��$� '$� *#��+ '!�#(� �#� ���/0�#� ��+ �#&��!  �*�'$0�!'!

#5’ ��$(�"  (�!'!" ��� �#� $�� �/���. �$!� �#�(�$-'! $!" �(�" �-�(��", !  (�!'!

��� �����(4#$�� '# ������'��3" '# ��+'$�'! 6 ��+ $� *#��+ '!�#(� #(��� ! ��'�

�#�(��� ��+ ��$�� ���" $�� ������'�+ '# ��+'$�'! 1.

�$!� �#�(�$-'! $�� wormhole ����%��� �#���$2'#�" ��� ! ���/��� #(��� '!−

���$� �. �" ���'05���# $!� �#�(�$-'! B � 16� L � 8. 	 �0'!  �*�'$0�!'! ���

����$!��'��# '$� ��$('$��%� &��/!�� $�� '%���$�" 4.9 #(��� 45 %�+��� cell. <�-"

'# ��$�� $!� �#�(�$-'! !  (�!'! ��� �0%#$�� 0��" ������'�+" '# ��+'$�'! 1,

0%#� ���)�!*#(  �$� �0'� +�� '#  �*�'$0�!'! 574 %�+�-� cell. ��� �0'� +�� $��

 ��$��# %��!�� �� (�����() ������'��( ��� )�(' ��$�� '# ��+'$�'! �#&��3$#�!

$�� 3. ���+�� �!���� ��� $� �( $�� #�/��(4#� ���  ��� �0'! #� +��, !  (�!'!

��� �����(4#$�� '# ���'�0���" "�$�%��"" ������'��3" ���)���#$�� '# ���3 �#&��#"

 �*�'$#��'#�". ��$+ ���$#�#( '$��%#(� ��� (�" '$!� �#$�%#(��'! $!"  (�!'!" �0'�

'$� �( $��.

�����$� �, )�0����# +$� $� ATM �# #�'�$���� '���#��/0�#$�� ���3  ��3$#��

 �$- ��+ '��*� #"  (�!'!" �0 *#��� '!�#(�  �� #��$�&%��#� ���3  ��3$#�#"  �−

*�'$#��'#�". .#� #(��� ��� � -" ���" $�� $�+�� ��� �#$�%#��(4#$�� $!�  (�!'! ���



 ��#($�� �0'� '$� �( $��. �� �3� #��%�'$� �#��''+$#�#" �-�(�#" ��+ $� ���*�" $-�

*#��2� '!�#(-� 2'$# !  (�!'! ��� �#� �!&�(�#� '# *#��+ '!�#(� �� �!� #�!�#�4#�

$!�  (�!'! ��� �#� �!&�(�#�. �� wormhole ��+ $!� ���! �#��� �#� 0%#� ����+&-"

 ��0" ���+$!$#". � +��  �� +$�� #��$�&%��#�  ��� �0'! $��� '$!�  �*�'$0�!'! ���

���)���#$�� !  (�!'! ���" �! *#��+ '!�#(�, ��$� /�(�#$�� �� #5��$�$�� ��+ $!�

*0'! $�� ������'��3  �� '�& # ���0�� ��+ $!� ��+'$�'� $�� ��+ $� *#��+ '!�#(�.

<�-" #(���#  �� ���!&���0�-", !  (�!'! ��� �����(4#$��  ��$� '$� *#��+ '!�#(�

����#( �� ���)�!*#( '# � +��  �� 60 /��0" �#&��3$#�!  �*�'$0�!'! ��+ ��$�� ���

 �$#�*3�#$�� �� ��� ��+ ��$+ (��+'$�'! 6).

4.2 
���+(�	 ���% �����
��(�% �(� �����(�

��$� $� ���!&�3�#�� �#�����$� �� �����#$��� $�� �� $3�� +�-" $� �0&#*+" $��  �� $�

���*�" #�'+�-�  �� #5+�-� ��� 0%#�  �*# �#$�&-&0�" ��+ $��" ���(��" ���$#�#($��

$� �( $��, �#�0�#���� ��#$�)�!$�. �$�" '#��0" $-� �#�����$-� ��� *� � ����*�'���,

�#�#$�$�� ! #���#�� $!" �35!'!" $-� #�'+�-�  �� $-� #5+�-� $+'� $�� �� $3�� +'�

 �� $-� �#$�&-&0-� ��� $� ���$#��3� '$�" #���+'#�" #�+" �� $3�� Banyan.

4.2.1 
���+(�	 ���
�(�% �����(�

�� ���*�" $-�  +�)-� ��� *0����# �� '���0'���# �# 0�� �( $�� �#� #(��� )0)���

'$�*#�+ &�� +�#" $�" #����/0���'#" #/����&0". >%#� �#&��� #����/0��� ����+� ��

�#�#$�'���# $�" #���+'#�" $-� �� $3-�  �*2" �#&��2�#� $� �0&#*+" $��".

�$� �#�����$� ��� � ����*�3� �#�#$�$�� ! #�(���'! $!" �#$�)���" $�� �#&0*��"

$�� �� $3�� '$!� '����� �  �*�'$0�!'! '$!� ���(� 0�� cell/flit ���)���#$�� +$��

$� /��$(� #�'+��� #(��� 0.4. 
#�#$��# � +��  �� $!� #�(���'! '$!� ����%�

 ��#'��3. �# +�#" $�" ������/2'#�" $-� �#�����$-� � %2��" ���*� #�'!" ��� #(���

�/�#�-�0��" &�� �(� �-�(�� #(��� 1 ('# �����#" cell/flit). ��$+ #(��� ����# $+ &��$(

!  �*�'$0�!'! �#��/���" (round−trip−delay) #(��� �� �+$#�! $�� #�+" cell time. 	

 (�!'! ��� ����&#$�� '$!�  �*# �!&� #(���  �� #�2 Poisson '# #�(�#�� �� 0$��

(+�-" '$� 4.1.1). �� �0&#*�"  �*# �� 0$�� #(��� 20 cell/flit. �� ���*�" $-� #�'+�-�

 �� $-� #5+�-� $��  �*# �#$�&-&0� #(��� '$�*#�+ 2. 	 $�����&(� $�� �� $3�� #(���

Banyan  �� $� ���*�" $-� #�'+�-�  �� $-� #5+�-� $�� #(��� 16, 64  �� 256.

�$� '%��� 4.12 )�0����# $!�  �*�'$0�!'! '# '����$!'! �# $� ���*�" $-�

�-�(�-�. ����$!��3�# +$� !  �*�'$0�!'! ��5��#� #��/��  �*2" $� �0&#*�" $��

�� $3�� ��5��#$�� �0%�� $� '!�#(�  ��#'��3 +��� ��  �*�'$#��'#�"  �$+��� �#&�−

�2���� (��#��+��'$� '$!� �#�(�$-'! $�� wormhole). ��$+ �/#(�#$�� '$� +$�  �*2"

�#&��2�#� $� �0&#*�" $�� �� $3�� ��5����$��  �� $� #�(�#�� $-� �#$�&-&0-� �0'�
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�%��� 4.12: 
#$�)���  �*�'$0�!'!"  �*2" �#$�)���#$�� $� �0&#*�" $�� �� $3��

'# ��$+. >�� cell/flit ��0�#� �� �#��'#� ��+ �#��''+$#���" �#$�&-&#(" &�� �� /$�'#�

'$�� ������'�+ $��.
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�%��� 4.13: 
#$�)�������%�"  ��#'��3  �*2" �#$�)���#$�� $� �0&#*�" $�� �� $3��

�$� '%��� 4.13 )�0����# $!� ����%�  ��#'��3 '# '����$!'! �# $� ���*�" $-�

�-�(�-�. ��� #�2 ����$!��3�# +$� ! ����%�  ��#'��3 �#�2�#$��  �*2" $� �0&#*�"

$�� �� $3�� �#&��2�#�. ��$+ �/#(�#$�� '$� &#&��+" +$�  �*2" �#&��2�#� $� �0&#*�"

$�� �� $3��, ��5��#$�� $� ���*�" $-� �#$�&-&0-� ��+ $��" ���(��" *� ��0�#� ��

�#��'#� 0�� �� 0$� ���� /$�'#� '$�� ������'�+ $��. Y�� '$!� &#�� � �#�(�$-'!

��5��#$��  �� $� ���*�" $-� �� 0$-� �# $� ���(� ��# �� #( $��" �+���" $�� �� $3��

&�� �� ���%-��'#�. �/�3 �� �+��� $�� �� $3�� �#� ��5����$��, ! ����%� ��+  �*#

�#$�&-&0� ���" 0��� ������'�+ �#�2�#$��  �� ��� ! ����%� �� 0$-� ��� ������'�+,

'����� � �#�2�#$��.

������ � )�0����# +$� �� #���+'#�" $�� �� $3�� %#���$#�#3���  �*2" $� �0&#*�"

$�� �� $3�� �#&��2�#�.



4.2.2 
���+(�	 ���
�(�% �������
�

�� �0&#*�" $-� �#$�&-&0-� #�+" �� $3�� #(��� '!���$� � �����#$��" &��$(  �*��(4#�

 �� $� ���*�" $-� #���0�-� ��+ $� ���(� ���$#�#($�� $� �( $��. <'� �#&��2�#� $�

�0&#*�" $�� �#$�&-&0� �#�2�#$�� $� ���*�" $-� #���0�-� $�� �� $3��. �����0��

�#�2�#$��  �� $� ���*�" $-� �#$�&-&0-� ��� %�#��4��$�� &�� ��  �$�' #��'$#( $�

�( $��. �(��� ����+� #����/0���, �� ��3�# �-" $� �0&#*�" $�� �#$�&-&0� #�!�#�4#�

$�" #���+'#�" $�� �� $3��.

�$� �#�����$� ��� � ����*�3� �#�#$�$�� ! #�(���'! $!" �#$�)���" $�� �#&0*��"

$�� �#$�&-&0� '$!� '����� �  �*�'$0�!'! '$!� ���(� 0�� cell/flit ���)���#$��

+$�� $� /��$(� #�'+��� #(��� 0.4  �*2"  �� '$!� ����%�  ��#'��3. �# +�#" $�"

������/2'#�" $-� �#�����$-� � %2��" ���*� #�'!" ��� #(��� �/�#�-�0��" &�� �(�

�-�(�� #(��� 1 ('# �����#" cell/flit). 	  (�!'! ��� ����&#$�� '$!�  �*# �!&� #(���

 �� #�2 Poisson '# #�(�#�� �� 0$�� (+�-" '$� 4.1.1). �� �0&#*�"  �*# �� 0$�� #(���

20 cell/flit. 	 $�����&(� $�� �� $3�� #(��� Banyan  �� $� ���*�" $-� #�'+�-�  �� $-�

#5+�-� $�� #(��� 64. �� ���*�" $-� #�'+�-�  �� $-� #5+�-� $��  �*# �#$�&-&0� #(���

2, 4 � 8.
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�%��� 4.14: 
#$�)��� '����� �"  �*�'$0��'!"  �*2" �#$�)���#$�� $� �0&#*�" $��
�#$�&-&0�

�$� '%��� 4.14 )�0����# $!�  �*�'$0�!'! '# '����$!'! �# $� ���*�" $-�

�-�(�-�. ����$!��3�# +$� !  �*�'$0�!'! �#�2�#$�� #��/��  �*2" $� �0&#*�"

$�� �#$�&-&0� ��5��#$�� �0%�� $� '!�#(�  ��#'��3 +��� ��  �*�'$#��'#�"  �$+���

�#&��2���� ��#��+��'$� '$� wormhole. ��$+ '��)�(�#� &��$( �#�2�#$�� $� ���*�"

$-� #���0�-� $�� �� $3��  ��  �$� '��0�#�� $� ���*�" $-� �#$�&-&0-� ��+ $��"

���(��" 0�� cell/flit ��0�#� �� �#��'#� &�� �� /$�'#� '$�� ������'�+ $��.

�$� '%��� 4.15 )�0����# $!� ����%�  ��#'��3 '# '����$!'! �# $� ���*�" $-�

�-�(�-�. ��� #�2 ����$!��3�# +$� ! ����%�  ��#'��3 ��5��#$�� #��/��  �*2"

$� �0&#*�" $�� �#$�&-&0� �#&��2�#�. 	 $�����&(� '$� #'-$#�� + #�+" �#$�&-&0�
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�%��� 4.15: 
#$�)��� ����%�"  ��#'��3  �*2" �#$�)���#$�� $� �0&#*�" $��
�#$�&-&0�

#(��� ����!" �!���� #(��� ����$� ! '3��#'! �����'����$# #�'+��� �# ��� 05���

��� �#� %�!'������#($��, ��#5��$!$� ��+ $� ���*�" $-� '���0'#-� ��� ����%���

��!  �� %-�(" #'-$#�� 0" '�& ��3'#�". ����$!��3�# ����+� +$� +'� ��� �(&�� ( ��

��� �#&����) #(��� �� �#$�&-&#(" ��+ $��" ���(��" ���$#�#($�� 0�� �( $�� $+'� ���

���3'�� '# '���0'#�" #(��� &��$( ! $�����&(� $�� ��!'��4#� �#��''+$#�� '$!� ����!

$�����&(�. �/�3 $� �( $�� &(�#$�� ��� ���3'��  �*2" �#&��2�#� $� �0&#*�" $-�

�#$�&-&0-� ��� $� ���$#��3�, &(�#$�� ��� #3 ��! ! ��0�#�'! ��+ 0�� $0$��� �( $��.

Y�� ! ����%� #�+" �� $3�� )#�$�2�#$��  �*2" �#&��2�#� $� �0&#*�" $-� �#$�&-&0-�

��� $� ���$#��3�.

������ � )�0����# +$� �� #���+'#�" $�� �� $3�� )#�$�2���$��  �*2" $� �0&#*�"

$�� �#$�&-&0� �#&��2�#�.





'�,����( 5

������������


#�#$�'��# $�" #���+'#�" �� $3-� ��� ���$#��3�$�� ��+ �#$�&-&#(" ATM�# 0�#&%�

���" �# #�'�$���� '# '3& ��'! �# $�" #���+'#�" �� $3-� wormhole �# �����&#"

������/2'#�", �0'- ���'���(-'!". 
#$�)����# �3� ����&��$#" '$� �#��)�����

$!" ���'���(-'!" &�� �� �#�#$�'���# $!� '���#��/��� $-� ��%�$# $��� 2�  �$-

��+ ���/��#$� 0" '��*� #". 
#$�)����# $� ���$0��  (�!'!" $�� �� $3��  �� $�

�0&#*�" $�� �� $3��  �� $�� �#$�&-&0�. �� ���$0��  (�!'!" ��� �� ���'��# �$��

�  (�!'! Poisson, +��� � ������'�+" #�+" �� 0$�� #���0&#$�� $�%�(�  �� ����+−

���/�  �� $� �0&#*�" $-� �� 0$-� #(��� '$�*#�+.

� # �! $� �  (�!'!, +��� �#$�)���#$�� $� �0&#*�" $-� �� 0$-� ���� � ������−

'�+" #���0&#$��  �� ���� ����+���/�.

�  (�!'! �# *#��� '!�#(�, +��� ���'�0��� ������'��( #���0&��$�� ��� '�%�� ��+

$��" �����" ���� $� �0&#*�" $-� �� 0$-� #(��� '$�*#�+.

�� #���+'#�" $�� �� $3�� '$!� �#�(�$-'! $�� ATM, #(��� '%#�+� ���$�  ��3$#�#"

��+ $�" #���+'#�" '$!� �#�(�$-'! $�� wormhole, # $+" ��+ $�" �#���$2'#�" ��� $�

/��$(� '$� '3'$!�� #(��� %��!�+  �� �#� ����%��� *#��� '!�#(�, +��� # #( ��

#���+'#�" #(��� ���+���#". ���� � '$!� �#�(�$-'! 3���5!" *#��2� '!�#(-�, '$!�

�#�(�$-'! $�� ATM #��$�&%����$�� '!���$� �  ��3$#�#" #���+'#�" ��+ +$� '$!�

�#�(�$-'! $�� wormhole, '$!� ���(� �#�(�$-'! !  (�!'! ��� �#� �!&�(�#� '$�

*#��+ '!�#(�, #����#�4#$�� ���3 ��+ $!�  (�!'! ��� �!&�(�#� '# ��$+, � +��  ��

+$�� $� ���*�" $-� �-�(�-� #(��� �#&��3$#�� ��+ $� ���*�" $-� *#��2� '!�#(-�.

�$� ATM �#� '��)�(�#�  �$� $0$���  �� �� #( #��%�'$� �#&��3$#�� ���*�" �-�(�-�

��+ ���*�" *#��2� '!�#(-�, &�� �� �!� ����%#� #�(���'!. �$!� �#�(�$-'! ��� $�

�0&#*�" $�� �� 0$�� �#&��2�#�, '# '��*� #" %��!��3 /��$(��, �� #���+'#�" $-� �3�

�� $3-� #(��� ���+���#", # $+" ��+ $!� �#�(�$-'! +��� $� ���*�" $-� �-�(�-� #(���

1 '$!� ���(� $� wormhole, '# �#&��� �#&0*! �� 0$��, �#� '���#��/0�#$��  ���.
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���� � &�� $!� �#�(�$-'! $�� ATM, ����$!��3�# +$�  �$- ��+ #3 ��#" '��*� #"

 � ��/��(�" $!"  (�!'!", ! ���'*� ! �#��''�$0�-� ��+ �(�" �-�(�-�, �#� /0��#�

'!���$� � �#&��! )#�$(-'! '$�" #���+'#�". <$�� +�-" $� �#&0*! $-� �� 0$-�

��%(4��� �� �#&��2����  �� ����($#�� +$�� ����%��� *#��� '!�#(� '$� �( $��,

! )#�$(-'! '$!�  �*�'$0�!'! ��� ����%#� #(��� '!���$� �. �$!� �#�(�$-'! ���

����%#� 0�� *#��+ '!�#(�, ! ���'*� !���" �+�� �-�(��" �������-��� ��#( �#(-'!

'$!�  �*�'$0�!'!  �$� �#�(��� 65 /��0".

��� $!� �#�(�$-'! $�� wormhole, �$�� ��! &�-'$+ [Dally 90], +$� ! ���'*� !

�-�(�-� '# 0�� �( $�� ��� ���$#�#($�� ��+ �#$�&-&#(" wormhole, ��� ��#( �#&��!

)#�$(-'! '$�" #���+'#�". 
# $!� �� � ��" #�&�'(�, #��)#)��2'��# ��$� $� ���−

$#�0'��$�  �� #(���# $� /���+�#�� #�$��+$#��  �$- ��+ ��� �3' ��#" '��*� #"

 � ��/��(�".

������ � �����3�# �� ��3�# +$� $� ATM #��$�&%��#�  ��3$#�#" #���+'#�" ��+ $�

wormhole '# �����&#" ������/2'#�" �� $3��. �# ���'�0�#" ������/2'#�" �#�����$-�

�� #���+'#�" $�� ATM �# 0�#&%� ���" �# #�'�$���� #(��� ���3  ��0" � +��  �� �#

#��%�'$#" �-�(�#"  �� ���! ���'*� !�-�(�-� �#� $�" )#�$�2�#� ( (�!'!Poisson). �#

���#" �#���$2'#�" ����$!�#($�� )#�$(-'! $-� #���+'#-�  �*2" ��5��#$�� $� ���*�"

$-� �-�(�-� ( (�!'! # �! $� �  �� �# *#��� '!�#(�). 	���'*� ! �-�(�-� ��� ��#(

�#&��#" )#�$�2'#�" '$!� ��+��'! $�� �� $3�� '$!� �#�(�$-'! $�� wormhole '#  �*#

����+�/-'! �#�����$�".



*�+��(���,��

[ABCJ 92] A. Agarawal, R. Bianchini, D. Chaiken, K. Johnson, D. Kranz, J.

Kubiatowitcz, B. Lim, K. Mackenzie and D. Yeung "The MIT Alewife

Machine: Architecture and Performance" Proc. of the 22nd Int. Symposium

on Computer Architecture, Santa Margherita Ligure, Italy, June 22−24 1995,

pp. 2−13.

[BeTs 89] D.P.Bertsekas and J.N.Tsitsiklis "Parallel and Distributed Computation:

Numerical Methods" Engelwood Cliffs, NJ: Prentice Hall, 1989.

[CSIM 94] "CSIM17 User’s Guide", Mesquite Software, Inc.

[DUSH 93] R. Das, M. Uysal, J. Saltz, Y. Hwang "Communication Optimizations

for Irregular Scientific Computations on Distributed Memory Architectures"

University of Maryland, Department of Computer Science UMIACS−TR−

93−109 1993.

[DaSe 87] W. J. Dally, C. L. Seitz, "Deadlock − Free Message Routing in Multiprocessor

Interconnection Networks", IEEE Transactions on Computers, vol. 36, no. 5,

May 1987, pp. 547−553.

[Dally 90] W. J. Dally, "Virtual − Channel Flow Control", Proc. of the 17th Int. Symp.

on Computer Architecture, ACM SIGARCH vol. 18, no. 2, May 1990, pp.

60−68.

[KOHR 94] J. Kuskin, D. Ofelt, M. Heinlein, R. Simoni, K. Gharachorloo, J. Chapin, D.

Nakahira, J. Baxter, M. Horowitz, A. Gupta, M. Rosenblum and J. Henessy,

"The Stanford FLASH Multiprocessor", Proc. of the 21st Int. Symposium on

Computer Architecture, Chicago Illinois, April 18−21 1994, pp. 302−313.

[KaVE 95] M. Katevenis, P. Vatsolaki, A. Efthymiou "Pipelined Memory Shared Buffer

for VLSI Switches" Proceedings of the ACM SIGCOMM ’95 Conference,

Cambrigde, MA USA 30 August−1 Sep. 1995, pp. 39−48.

57



[Kate 94] M. Katevenis, "Telegraphos: High−Speed Communication Architecture for

Parallel and Distributed Computer Systems", Techical Report FORTH−

ICS/TR−123, ICS, FORTH, Heraklio, Crete, GR, May 1994

[Kung 92] H. T. Kung, "Gigabit Local Area Networks: A System Perspective", IEEE

Communications Magazine, vol. 30, no. 4, April 1992, pp. 79−89.

[LLGW 92] D. Lenoski, J. Laudon, K. Gharachorloo, W.−D. Weber, A. Gupta, J.

Henessy, M. Horowitz and M. S. Lam, "The Stanford Dash Multiprocessor",

IEEE Computer, vol. 25, no. 3, March 1992, pp. 63−79 March 1992.

[NBKP 95] A. G. Nowatzyk, M. C. Browne, E. J. Kelly, M. Parkin, "S−Connect:

From Networks of Workstations to Supercomputer Performance", 22nd Int.

Symposium on Computer Architecture, Santa Margherita Ligure, Italy, June

22−24, 1995, pp. 71−82.

[Nara 88] M. J. Narasimha, "The Batcher−Banyan Self−Routing Network: Universality

and Simplification", IEEE Transactions On Communications, vol. 36, no. 10,

October 1988, pp. 1175−1188.

[OMSI 95] H. Oshaki, M. Murata, H. Suzuki, C. Ikeda, H. Miyahara "Rate−Based

Congestion Control for ATMNetworks", Computer Communication Review,

ACM SIGCOMM, vol. 25, no. 2, April 1995, pp. 60−72.

[RoCG 94] R. Rooholamini, V. Cherkassky, M. Garver "Finding the Right ATM Switch

for the market", IEEE Computer Magazine, vol 27, April 1994, pp. 16−28.

[Toba 90] F. A. Tobagi, "Fast Packet Switch Architectures For Broadband Integrated

Services Digital Networks", Proceedings on the IEEE, vol. 78, no. 1, January

1990, pp. 133−167.

[Walr 91] JeanWalrand, "CommunicationNetworks: AFirst Course", AksenAssociates,

Boston, MA, 1991.


